SECTION B CONTENTS
THREE PIECE BALL VALVES

DESCRIPTION PAGE
82-100 Series, Threaded Full Port Bronze B-1
82-200 Series, Solder Full Port Bronze B-2
83R-100 Series, Actuator Ready Threaded Full Port Carbon Steel (New Item) B-3
83R-200 Series, Actuator Ready Socket Weld Full Port Carbon Steel (New Item) B-4
83R-700 Series, Actuator Ready Butt Weld Full Port Carbon Steel (New Item) B-5
85R-100 Series, Actuator Ready Threaded Stainless Steel (New Item) B-6
85R-200 Series, Actuator Ready Socket Weld Stainless Steel (New Item) B-7
86R-100 Series, Actuator Ready Threaded Full Port Stainless Steel (New Item) B-8
86R-200 Series, Actuator Ready Socket Weld Full Port Stainless Steel (New Item) B-9
86R-700 Series, Actuator Ready Butt Weld Full Port Stainless Steel (New Item) B-10
83-100 Series, Threaded Full Port Carbon Steel B-11
83-200 Series, Socket Weld Full Port Carbon Steel B-12
83-300 Series, Threaded High Pressure Carbon Steel B-13
83-400 Series, Socket Weld High Pressure Carbon Steel B-14
83-500 Series, Threaded Full Port High Pressure Carbon Steel B-15
83-600 Series, Socket Weld Full Port High Pressure Carbon Steel B-16
83-700 Series, Butt-Weld Full Port Carbon Steel B-17
85-100 Series, Threaded Stainless Steel B-18
85-200 Series, Socket Weld Stainless Steel B-19
86-100 Series, Threaded Full Port Stainless Steel B-20
86-200 Series, Socket Weld Full Port Stainless Steel B-21
86-500 Series, Threaded Full Port High Pressure Stainless Steel B-22
86-600 Series, Socket Weld Full Port High Pressure Stainless Steel B-23
86-700 Series, Butt-Weld Full Port Stainless Steel B-24
86-900 Series, Butt-Weld Full Port High Pressure Stainless Steel B-25
401-100 Series, Threaded Full Port Alloy-20 B-26

401-200 Series, Socket Weld Full Port Alloy-20 B-27



Apollo. 82-100 Series

Bronze 3-Piece Full Port Ball Valve

Threaded, 600 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: BZ, Style: 1.

FEATURES

¢ Full port configuration ¢ Blow-out-proof stem design
¢ RPTFE seats and seals ¢ Adjustable packing gland
¢ In-line repairable

STANDARD MATERIAL LIST

1. Lever and grip Steel, zinc plated w/vinyl 10. Body bolt Steel, zinc plated
2. Stem packing RPTFE 11. Hex nut Steel, zinc plated
3. Stem bearing RPTFE 12. Body B584-C84400
4. Ball B16, chrome plated (except 3" & 4")
5. Seat (2) RPTFE
6. End cap (2) B16 (1/4" to 3/8")
B584-C84400 (1/2" to 4")
7 Gland nut Bl6 OPTIONS AVAILABLE:
8. Stem B16 (except 3" & 4") (SUFFIX)  OPTION SIZES
9. Lever nut Steel, zinc plated -02- Static Grounded 1/4" to 4"
-03- 1-1/4" Stem Extension 1/4" to 2"
VARIATIONS AVAILABLE- -04- 2-1/4" Stem Extension 1/4" to 2"
¢ -05- Plain Ball 1/4" to 4"
82-140 Series (316 SS Ball & Stem) -07- Tee Handle 1/4" 10 2"
. - . -08- 90° Reversed Stem 1/4" to 4"
82-150 Series (Original Balancing Stop) 0. SS Lover & Nt 14" 04"
-14- Vented Ball (see page ]-2) 1/4" to 4"
E { -15- Round Handle 1/4" to 2"
9 -16- Vertical Chain Lever 1/2" to 2"
B ~ -18- Plain Yellow Grip 1/4" to 2"
ﬁj -19- Lock Plate 1/4" to 4"
-20- Slot Vented Ball 1/4" to 4"
1) (2) 7 }D 21- UHMWPE Seats 1/4" to 4
3 0 -23- Tank Flange 2" ONLY
& -24- Graphite Stem Packing 1/4" to 4"
-27- Latch Lock Lever 1/2" to 2"
1 -30- CamLock Handle 1/4" to 1-1/4"
-32- SS Tee Handle & Nut 1/4" to 2"
A R -35- PTFE Trim 1/4" to 4"
-45- Less Lever & Nut 1/4" to 4"
7 -46- Latch Lock Lever - Lock Close Only 1/2" to 2"
-48- SS Oval Handle 1/4" to 2"
-49- Assembled Dry 1/4" to 4"
-50- 2-1/4" Locking Stem Extension 1/4" to 2"
5 12 10 -57- Cleaned for Gaseous Oxygen 1/4" to 4"
- B ——— 4 -58- Horizontal Chain Lever 1/2" to 2"
-59- SS Body Trim 1/4" to 4"
C | -60- Static Grounded Ball & Stem 1/4" to 4"
-63- Threaded x Solder 3/8" to 4"
-P01- BSPP (Parallel) Thread Connection 1/4" to 4"
BRONZE 3-PIECE FULL PORT BALL VALVE -T01- BSPT (Tapered) Thread Connection 1/4" to 4"
NUMBER SIZE A B C D E Wt.
82-101-01 1/4" 43 1.28 2.56 1.81 3.87 1.02
82-102-01 3/8" .50 1.28 2.56 1.81 3.87 1.04 R
82-103-01 | 1/2" 62 | 140 | 281 | 193 | 487 | 155 For Pressure/Temperature Ratings,
82-104-01 | 3/4" 81 | 171 | 343 | 218 | 487 | 227 Refer to Page N-10, Graph No. 4
82-105-01 1 1.00 1.93 3.87 2.62 5.50 3.28

82-106-01 1-1/4" 1.25 2.37 4.75 2.87 5.50 5.62
82-107-01 1-1/2" 1.50 2.62 9.25 3.37 8.00 8.07

82-108-01 2" 2.00 3.01 6.03 3.68 8.00 14.42
82-109-01 2-1/2" 2.50 3.62 7.25 5.14 9.75 26.61
82-140-01 3" 3.00 4.00 8.00 6.77 18.00 | 42.24
82-14A-01 4" 4.00 5.50 11.00 | 8.26 18.00 | 88.40

]_/OO COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. B_ 1



Apollo. 82-200 Series

Bronze 3-Piece Full Port Solder End Ball Valve

Solder End, 600 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.

Federal Specification: WW-V-35B, Type: I, Composition: BZ, Style: 1.
Designed For Soft Solder or Brazed Installation.

FEATURES

e Full port configuration ¢ Blow-out-proof stem design
® RPTFE seats and seals ¢ Adjustable packing gland
¢ In-line repairable

STANDARD MATERIAL LIST

1. Lever and grip Steel, zinc plated w/vinyl 10. Body bolt Steel, zinc plated
2. Stem packing RPTFE 11. Hex nut Steel, zinc plated
3. Stem bearing RPTFE 12. Body B584-C84400
4. Ball B16, chrome plated (except 3" & 4")
5. Seat (2) RPTFE
6. End cap (2) B16 (3/8") .
Bl6@e) . . OPTIONS AVAILABLE:
7. Gland nut B16 (SUFFIX)  OPTION SIZES
8. Stem B16 (except 3" & 4") -02- Static Grounded 3/8" to 4"
L t teel 7 ot -03- 1-1/4" Stem Extension 3/8" to 2"
9. Lever nu Steel, zinc plated -04- 2-1/4" Stem Extension 3/8" to 2"
VARIATIONS AVAILABLE:
¢ -07- Tee Handle 3/8" to 2"
82-240 Series (316 SS Ball & Stem) -08- 90° Reversed Stem 3/8" 0 4"
L -10- SS Lever & Nut 3/8" to 4"
E -14- Vented Ball (see page ]-2) 3/8" t0 4"
S -15- Round Handle 3/8" to 2"
8 X -16- Vertical Chain Lever 172" t0 2"
E/ -18- Plain Yellow Grip 3/8" t0 2"
-19- Lock Plate 3/8" to 4"
11 (2 7 -20- Slot Vented Ball 3/8" to 4"
3 -21- UHMWPE Seats 3/8" to 4"
D -23- Tank Flange 2" ONLY
-24- Graphite Stem Packing 3/8" t0 4"
_r_‘_, -27- Latch Lock Lever 12" t0 2"
-30- CamlLock Handle 3/8" to 1-1/4"
F A 1 -32- SS Tee Handle & Nut 3/8" t0 2"
-35- PTFE Trim 3/8" to 4"
* . -45- Less Lever & Nut 3/8" to 4"
T -46- Latch Lock Lever - Lock Close Only 172" t0 2"
-48- SS Oval Handle 1/4" to 2"
-49- Assembled Dry 3/8" t0 4"
e -50- 2-1/4" Locking Stem Extension 3/8" to 2"
= 6 5 a 12 -57- Cleaned for Gaseous Oxygen 3/8" t0 4"
e B ! -58- Horizontal Chain Lever 1/2" t0 2"
-59- SS Body Trim 3/8" to 4"
C -60- Static Grounded Ball & Stem 3/8" t0 4"
BRONZE 3-PIECE FULL PORT BALL VALVE
NUMBER | SIZE | A B C D E F G Wit.
82-202-01 | 3/8" S50 | 1.28 | 2.56 | 1.81 | 3.87| .505 | .37 .99
82-203-01 | 1/2" 62 | 140 | 281 | 193 | 487 | .630 | .50 1.46
82-204-01 | 3/4" 81 | 171 | 343 | 2.18 | 487 | .880 | .75 | 2.07
82-205-01 1" 1.00 | 1.93 | 3.87 | 262 | 5.50| 1.130 | .90 | 3.03
82-206-01 |1-1/4" | 1.25 |2.37 | 475 | 2.87 | 5.50 | 1.380 | .96 | 5.02
82-207-01 |1-1/2" | 1.50 | 260 | 5.25 | 3.37 | 8.00 | 1.630 | 1.09 | 7.91 For Pressure/Temperature Ratings,
82-208-01 2" 2.00 | 301 | 6.03| 3.68 | 8.00 |2.130 | 1.34 | 13.50 Refer to Page N-10, G'I'Ctph No. 4
82-209-01 |2-1/2" | 2.50 [3.62 | 7.25| 5.14 | 9.38 | 2.630 | 1.47 | 26.61
82-240-01 3" 3.00 | 4.00 | 800 | 6.77 |18.00| 3.130 | 1.66 | 42.24
82-24A-01 | 4" 400 |95.50 | 11.00| 826 |18.00|4.130 | 2.16 | 88.40

B-2 COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. 1/00



Car

Y

olo. 83R-100 Series

on Steel 3-Piece Full Port Ball Valve
With Actuator Ready ISO Mounting Pad

Full Port Threaded, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 1.

FEATURES

¢ Adjustable packing gland

¢ [nvestment cast components
¢ RPTFE seats and seals

e Full port configuration

1. Stem
2. Jam nut

3. Low profile nut

4. Gland

5. Stem bearing

6. End cap (2)

+ j—'\\

® Multi-piece packing set

¢ [SO 5211 mounting pad

¢ Blow-out-proof stem design
¢ In-line repairable

STANDARD MATERIAL LIST

Al108-CS
Steel, zinc plate
316 SS
A108-CS
RPTFE
Al108-CS(1/4"to 1")
A216-WCB (1-1/4" to 2")

7. Hex nut (4)
8. Seat (2)

RPTTE

Stl-gr. 8-zinc plt

%)ﬁ

eoofo&

9. Ball
10. Body bolt (4)
11. Stem packing

12. Body
13. Lock tab washer
14. Lever and grip

VARIATIONS AVAILABLE:

e 83R-140 Series (316 SS Ball & Stem)
e Meets NACE MR-01-75 (1-1/4" to 2")

A108-CS chrome plate
Stl-gr. 8-zinc plt
MPTFE

ASTM A216-WCB

304 SS

Stl-zinc plt-w/vinyl

H
4 13 (SUFFIX) OPTION SIZES
; 12 G I -02- Static Grounded 1/4" to 2"
D S 1" - F r‘_ /_ -03- 1-1/4" Stem Extension 1/4" to 2"
r‘e S | & { 04- 2-1/4" Stem Extension 1/4" 10 2"
L 1 -08- 90° Reversed Stem 1/4" to 2"
i H Fl o SS Lever & Nut 14" to 2"
A L — —F gt — =D T G 14 Vented Ball 1/4" to 2"
— } e l 18- Plain Yellow Grip 1/4" 10 2"
0 -21- UHMWPE Seats (Non-PTFE) 1/4" to 2"
LGQF :_OLJ -24- Graphite Stem Packing 1/4" t0 2"
6 7 8 s 10 -27- Latch Lock Lever 1/4" to 2"
8 -35- PTFE Trim 1/4" to 2"
c -39- SS Latch Lock Round Handle 1/4" to 2"
-59- SS Body Trim 1/4" to 2"
-60- Static Grounded Ball & Stem 1/4" to 2"
-63- Threaded x Socket Weld 1/4" to 2"
-PO1- BSPP (Parallel) Thread Connection 1/4" to 2"
-T01- BSPT (Tapered) Thread Connection 1/4" to 2"
-AR- Less Handle & Stop-Add Belleville Washers1/4" to 2"
-WB- With Lever & Belleville Washers 1/4" to 2"
For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 7
CARBON STEEL 3-PIECE FULL PORT
BALL VALVE WITH ISO MOUNTING PAD
] K L M
NUMBER | SIZE A B C D E F G H I (FLATS) (TII:IJ%]?‘S.)
83R-101-01 | 1/4" .62 | 1.40 | 2.81 [2.05 | 4.18 .59 1.17 .61 .28 .247/.249 3/8-24 .565 .50
83R-102-01 | 3/8" 62 | 140 [ 2.81 [2.05] 4.18 | .59 1.17 .61 28 | .247/.249 3/8-24 .700 .56
83R-103-01 | 1/2" .62 | 1.40 | 2.81 [2.05 | 4.18 .59 1.17 .61 .28 .247/.249 3/8-24 .855 43
83R-104-01 | 3/4" 81 | 1.71 | 3.42 |2.42 | 4.93 .70 1.39 .84 .28 .247/.249 3/8-24 1.065 .56
83R-105-01 | 1" 1.00 | 1.92 | 3.85 [2.54 | 493 | .70 1.39 .84 28 | .247/.249 3/8-24 1.330 .68
83R-106-01 | 1-1/4" [ 1.25 | 2.35 [ 4.70 [3.16 | 8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18 1.675 81
83R-107-01 | 1-1/2" | 1.50 | 2.59 | 5.18 [3.49 | 8.06 .98 1.95 1.16 .34 .370/.372 5/8-18 1.915 .87
83R-108-01 | 2" 2.00 [ 301 |6.03 [395]8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18 2.405 1.05
1/00 COPYRIGHT ©2000 CONBRACO IND., INC. - PRINTED IN U.S.A. B-3



Apollo. 83R-200 Series

Carbon Steel 3-Piece Full Port Socket Weld

Ball Valve With Actuator Ready ISO Mounting Pad

Socket Weld, 10

00 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.

Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 1.

FEATURES

® Multi-piece packing set ¢ Adjustable packing gland

¢ [SO 5211 mounting pad ¢ Investment cast components

¢ Blow-out-proof stem design ® RPTFE seats and seals

¢ In-line repairable e Full port configuration

STANDARD MATERIAL LIST
1. Stem Al108-CS 7. Hex nut (4) Stl-gr. 8-zinc plt
2. Jam nut Steel, zinc plate 8. Seat (2) RPTFE
3. Low profile nut 316 SS 9. Ball A108-CS chrome plate
4. Gland A108-CS 10. Body bolt (4) Stl-gr. 8-zinc plt
5. Stem bearing RPTFE 11. Stem packing MPTFE
6. End cap (2) Al08-CS(1/4"to 1) 12. Body ASTM A216-WCB
A216-WCB (1-1/4" to 2") 13. Lock tab washer 304 SS
14. Lever and grip Stl-zinc plt-w/vinyl

VARIATIONS AVAILABLE:

1 e 83R-240 Series (316 SS Ball & Stem)
2 _\ E * Meets NACE MR-01-75 (1-1/4" to 2")
* 3_\ T K 14

" OPTIONS AVAILABLE:
4 13 .
I 12 I n (SUFFIX) _ OPTION SIZES
5 " I * -02- Static Grounded 1/4" to 2"
"_G [(9 [ @Q\ ) -03- 1-1/4" Stem Extension 1/4" t0 2"
r*— i dl . f 04- 2-1/4" Stem Extension 14" to 2"
{ -08- 90° Reversed Stem 1/4" t0 2"
Tl - I = “3&9 T$ -0 SS Lever & Nut 14" to 2"
] LE G)\ Oj * -14- Vented Ball 1/4" t0 2"
X 18- Plain Yellow Grip 1/4" to 2"
6 Ny sl 21- UHMWPE Seats (Non-PTFE) 1/4" to 2"
7—1 8 9 10 -24- Graphite Stem Packing 1/4"t0 2"
- M |- -27- Latch Lock Lever 1/4" to 2"
le—B -35- PTFE Trim 1/4" to 2"
c -39- SS Latch Lock Round Handle 1/4" t0 2"
-59- SS Body Trim 1/4" to 2"
-60- Static Grounded Ball & Stem 1/4" t0 2"
-63- Threaded x Socket Weld 1/4" to 2"
-PO1- BSPP (Parallel) Thread Connection 1/4" t0 2"
-T01- BSPT (Tapered) Thread Connection 1/4" to 2"
-AR- Less Handle & Stop-Add Belleville Washers1/4" to 2"
-WB- With Lever & Belleville Washers 1/4" to 2"

For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 7

CARBON STEEL 3-PIECE FULL PORT SOCKET WELD
BALL VALVE WITH ISO MOUNTING PAD

] K L M
NUMBER | SIZE | A B C D E F G H I (FLATS) (TIiIII;i\I]%S.)
83R-201-01 | 1/4" 62 | 140 | 281 [2.05 | 418 | .59 1.17 .61 .28 | .247/.249 3/8-24 .565 .50
83R-202-01 | 3/8" 62 | 140 | 281 [2.05| 418 | .59 1.17 61 .28 | .247/.249 3/8-24 .700 .56
83R-203-01 | 1/2" .62 [ 140 [2.8] |2.05| 4.18 | .59 1.17 .61 .28 | .247/.249 3/8-24 .855 .43
83R-204-01 | 3/4" 81 | 171 | 342 [242 493 | .70 1.39 .84 .28 | .247/.249 3/8-24 1.065 .56
83R-205-01 | 1" 100 | 1.92 1385 |2.54|493 | .70 1.39 .84 .28 | .247/.249 3/8-24 1.330 .68
83R-206-01 | 1-1/4" | 1.25 | 2.35 | 4.70 [3.16 | 8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18 1.675 81
83R-207-01 | 1-1/2" | 1.50 | 2.59 | 5.18 |3.49 | 8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18 1.915 .87
83R-208-01 | 2" 2.00 | 301 |6.03 [3.95]8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18 2.405 1.05

COPYRIGHT ©2000 CONBRACO IND., INC. - PRINTED IN U.S.A.
B-4 1/00



Apollo. 83R-700 Series %

Carbon Steel 3-Piece Full Port Butt-Weld
Ball Valve With Actuator Ready ISO Mounting Pad

Schedule 40 Butt-Weld Ends, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 1.

FEATURES

0«9

® Multi-piece packing set ¢ Adjustable packing gland
¢ [SO 5211 mounting pad ¢ [nvestment cast components
¢ Blow-out-proof stem design ¢ RPTFE seats and seals
¢ In-line repairable e Full port configuration
1. Stem A108-CS 7. Hex nut (4) Stl-gr. 8-zinc plt
2. Jam nut Steel, zinc plate 8. Seat (2) RPTFE
3. Low profile nut 316 SS 9. Ball A108-CS chrome plate
4. Gland A108-CS 10. Body bolt (4) Stl-gr. 8-zinc plt
5. Stem bearing RPTFE 11. Stem packing MPTFE
6. End cap (2) A108-CS (1/2"to 1" 12. Body ASTM A216-WCB
A216-WCB (1-1/4" to 2") 13. Lock tab washer 304 SS
14. Lever and grip Stl-zine plt-w/vinyl
e 83R-740 Series (316 SS Ball & Stem)
1 f:? ¢ Meets NACE MR-01-75 (1-1/4" to 2")
2 I E
“\ 7
R Koo OPTIONS AVAILABLE:
4 13 (SUFFIX) OPTION SIZES
! 12 ¢ . -02- Static Grounded 1/2"t0 2"
D S 1 - F !__ /_ * -03- 1-1/4" Stem Extension 1/2"t0 2"
(e | N -04- 2-1/4" Stem Extension 1/2"to 2"
* ] 'G O © 1 -08- 90° Reversed Stem 1/2"t0 2"
i WA Floo SS Lever & Nut 112'102"
A= — —rF i3d= T G .14 Vented Ball 1/2"t0 2"
* } 1\ % f | 18- Plain Yellow Grip 1/2" 102"
- 0 -21- UHMWPE Seats (Non-PTFE) 1/2"to 2"
6 G.@Fq_olj 24- Graphite Stem Packing 1/2" to 2"
7 " s 10 -27- Latch chk Lever 1/2"t0 2"
-35- PTFE Trim 1/2" to 2"
8 -39- SS Latch Lock Round Handle 1/2"t0 2"
¢ -59- SS Body Trim 1/2" to 2"
-60- Static Grounded Ball & Stem 1/2"t0 2"
-63- Threaded x Socket Weld 1/2"to 2"
-P01- BSPP (Parallel) Thread Connection 1/2"t0 2"
-TO1- BSPT (Tapered) Thread Connection 1/2"to 2"
-AR- Less Handle & Stop-Add Belleville Washers1/2" to 2"
-WB- With Lever & Belleville Washers 1/2"to 2"
For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 7
CARBON STEEL 3-PIECE FULL PORT BUTT-WELD
BALL VALVE WITH ISO MOUNTING PAD
] K
NUMBER | SIZE | A B C D E F G H I (FLATS) (TI‘:IJ%]%S.)
83R-703-01 [ 1/2" .62 | 140 | 2.81 [2.05 | 4.18 .59 1.17 .61 .28 .247/.249 3/8-24
83R-704-01 | 3/4" 81 [ 171 | 342 [242 1493 | .70 1.39 .84 .28 .247/.249 3/8-24
83R-705-01 1" 1.00 | 1.92 [3.85 [2.54 | 4.93 .70 1.39 .84 .28 .247/.249 3/8-24
83R-706-01 | 1-1/4" | 1.25 | 2.35 [ 4.70 | 3.16 | 8.06 .98 1.95 1.16 .34 .370/.372 5/8-18
83R-707-01 [ 1-1/2" | 1.50 | 2.59 [5.18 |3.49 | 8.06 | .98 1.95 1.16 .34 .370/.372 5/8-18
83R-708-01 | 2" 2.00 | 3.01 [6.03 |3.95]8.06 | .98 1.95 1.16 .34 .370/.372 5/8-18

1 /OO COPYRIGHT ©2000 CONBRACO IND., INC. - PRINTED IN U.S.A.



Ago%®853—100 Series

tainless Steel 3-Piece Ball Valve

With Actuator Ready ISO Mounting Pad

Std. Port Threaded, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES

¢ Adjustable packing gland

¢ [nvestment cast components
¢ RPTFE seats and seals

e Full port configuration

® Meets NACE MRO1-75

STANDARD MATERIAL LIST

8. Seat (2)
9. Ball
10. Body bolt (4)
11. Stem packing
12. Body
13. Lock tab washer

® Multi-piece packing set

¢ [SO 5211 mounting pad

¢ Blow-out-proof stem design
¢ In-line repairable

1. Stem A276-316

2. Jam nut oSS

3. Low profile nut 316 SS

4. Gland A276-316

5. Stem bearing RPTFE

6. End cap (2) ASTM A351-CF8M
7. Hex nut (4) 18-8 SS

\'/// 7' N
\\\\\\\}I///::-////

.| Il

%
210 —.

— M |
l— & —

For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 8

14. Lever and grip

OPTIONS AVAILABLE:

RPTFE

316 SS

18-8 5SS

MPTFE

ASTM A351-CF8M
304 SS

304 SS w/vinyl

(SUFFIX) OPTION SIZES
-02- Static Grounded 3/4" to 2"
-03- 1-1/4" Stem Extension 3/4" to 2"
-04- 2-1/4" Stem Extension 3/4" to 2"
-08- 90° Reversed Stem 3/4" to 2"
-14- Vented Ball 3/4" to 2"
-18- Plain Yellow Grip 3/4" to 2"
-21- UHMWPE Seats (Non-PTFE) 3/4" to 2"
-24- Graphite Stem Packing 3/4" to 2"
-27- Latch Lock Lever 3/4" to 2"
-35- PTFE Trim 3/4" to 2"
-39- SS Latch Lock Round Handle 3/4" to 2"
-49- Assembled Dry 3/4" to 2"
-57- Cleaned For Gaseous Oxygen 3/4" to 2"
-60- Static Grounded Ball & Stem 3/4" to 2"
-63- Threaded x Socket Weld 3/4" to 2"
-PO1- BSPP (Parallel) Thread Connection 3/4" to 2"
-T01- BSPT (Tapered) Thread Connection 3/4" to 2"
-AR- Less Handle & Stop-Add Belleville Washers3/4" to 2"
-WB- With Lever & Belleville Washers 3/4" to 2"

STAINLESS STEEL 3-PIECE STANDARD PORT
BALL VALVE WITH IsO MOUNTING PAD

] K
NUMBER | SIZE | A B C D E F G H I (FLATS) (TI{IJI%I?S.)
85R-104-01 | 3/4" .62 | 140 [ 281 [2.05) 4.18 | .59 1.17 b1 .28 | .247/.249 3/8-24
85R-105-01 | 1" 81 | 171 |342 (242|493 | .70 1.39 .84 .28 | .247/.249 3/8-24
85R-106-01 | 1-1/4" | 1.00 | 1.92 |3.85 [2.54 | 493 | .70 1.39 .84 .28 | .247/.249 3/8-24
85R-107-01 | 1-1/2" | 1.25 | 2.35 [4.70 |3.16 | 8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18
85R-108-01 | 2" 1.50 | 2.59 |5.18 [349 ] 8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18

B-6

COPYRIGHT ©2000 CONBRACO IND., INC. - PRINTED IN U.S.A.

1/00



Apollo. 85R-200 Series %

Stalnless Steel 3-Piece Standard Port Socket Weld
Ball Valve With Actuator Ready ISO Mounting Pad

Socket Weld, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES

0«9

® Multi-piece packing set ¢ Adjustable packing gland

¢ [SO 5211 mounting pad ¢ [nvestment cast components
¢ Blow-out-proof stem design ¢ RPTFE seats and seals

¢ In-line repairable ¢ Standard port configuration

® Meets NACE MRO1-75

STANDARD MATERIAL LIST

1. Stem A276-316 8. Seat (2) RPTFE

2. Jam nut SS 9. Ball 316 SS

3. Low profile nut 316 SS 10. Body bolt (4) 18-8 55

4. Gland A276-316 11. Stem packing MPTFE

5. Stem bearing RPTFE 12. Body ASTM A351-CF8M
6. End cap (2) ASTM A351-CF8M 13. Lock tab washer 304 SS

7. Hex nut (4) 18-8 SS 14. Lever and grip 304 SS w/vinyl

OPTIONS AVAILABLE:

. F‘? (SUFFIX) _ OPTION SIZES
I E ! -02- Static Grounded 3/4" to 2"

H -03- 1-1/4" Stem Extension 3/4" to 2"

3 K 14 -04- 2-1/4" Stem Extension 3/4"t0 2"

H -08- 90° Reversed Stem 3/4" to 2"

4 13 -14- Vented Ball 3/4" to 2"

; 12 G I -18- Plain Yellow Grip 3/4" to 2"

] 5 1 - F J"_ 21- UHMWEPE Seats (Non-PTFE) 3/4" to 2"
’_6 fG_) | @ ] * -24- Graphite Stem Packing 3/4" to 2"

r*-— ’ 27 Latch Lock Lever 34" t0 2"
j H F -35- PTFE Trim 3/4" to 2"

LA~ — —JT— =D T G .39 SS Latch Lock Round Handle 3/4"to 2"
’ Q LI l -49- Assembled Dry 3/4" to 2"

T -57- Cleaned For Gaseous Oxygen 3/4" to 2"

LG_@FQQJ -60- Static Grounded Ball & Stem 3/4" 10 2"

6 A 8 s 10 -63- Threaded x Socket Weld 3/4" to 2"
— M -P01- BSPP (Parallel) Thread Connection 3/4" to 2"
8 -T01- BSPT (Tapered) Thread Connection 3/4" to 2"

c -AR- Less Handle & Stop-Add Belleville Washers3/4" to 2"

-WB- With Lever & Belleville Washers 3/4" to 2"

For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 8

STAINLESS STEEL 3-PIECE STANDARD PORT SOCKET WELD
BALL VALVE WITH IsO MOUNTING PAD

] K L M
NUMBER | SIZE | A B C D E F G H I (FLATS) (TIiIJlI’L\Ill):‘S.)
85R-204-01 | 3/4" 62 | 140 [2.8] |2.05 | 418 | .59 1.17 .61 28 | .247/.249 3/8-24 1.065 .56
85R-205-01 | 1" 81 | 171 | 342 [242 493 | 70 1.39 .84 28 | .247/.249 3/8-24 1.330 .68
85R-206-01 | 1-1/4" | 1.00 | 1.92 [3.85 |2.54 | 493 | .70 1.39 .84 28 | .247/.249 3/8-24 1.675 .81
85R-207-01 | 1-1/2" | 1.25 | 2.35 [4.70 |3.16 | 8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18 1.915 .87
85R-208-01 | 2" 1.50 | 2.59 |5.18 [3.49 | 8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18 2.406 1.06

1/00 COPYRIGHT ©2000 CONBRACO IND., INC. - PRINTED IN U.S.A.



1. Stem
2. Jam nut

Apollo. 86R-100 Series

Stounless Steel 3-Piece Full Port Ball Valve
With Actuator Ready ISO Mounting Pad

Full Port Threaded, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES

¢ Adjustable packing gland

® Multi-piece packing set
¢ [SO 5211 mounting pad

® Blow-out-proof stem design
¢ In-line repairable

3. Low profile nut

4. Gland

5. Stem bearing

6. End cap (2)

7. Hex nut (4)

\ / / \-
A -L

A276-316
S5
316 S5

A276-316
RPTFE

ASTM A351-CF8M
18-8 55

/l/

Yr/77.

I |
{ \\\\\\\\/"////7//

/////

\,\\\Y

AN

New

e o
(& | AH

i 21 Yy

o4l
lo—c

For Pressure/Temperature Ratings,

Refer to Page N-12, Graph No. 8

¢ [nvestment cast components
¢ RPTFE seats and seals

e Full port configuration

® Meets NACE MRO01-75

STANDARD MATERIAL LIST

8. Seat (2)

9. Ball

10. Body bolt (4)
11. Stem packing

12. Body

13. Lock tab washer
14. Lever and grip

OPTIONS AVAILABLE:

RPTTE
316 S5
18-8 55
MPTTFE

ASTM A351-CF8M

304 55

304 SS w/vinyl

(SUFFIX) OPTION SIZES
-02- Static Grounded 1/4" to 2"
-03- 1-1/4" Stem Extension 1/4" to 2"
-04- 2-1/4" Stem Extension 1/4" to 2"
-08- 90° Reversed Stem 1/4" to 2"
-14- Vented Ball 1/4" to 2"
-18- Plain Yellow Grip 1/4" to 2"
-21- UHMWPE Seats (Non-PTFE) 1/4" to 2"
-24- Graphite Stem Packing 1/4" to 2"
-27- Latch Lock Lever 1/4" to 2"
-35- PTFE Trim 1/4"t0 2"
-39- SS Latch Lock Round Handle 1/4" to 2"
-49- Assembled Dry 1/4" to 2"
-57- Cleaned For Gaseous Oxygen 1/4" t0 2"
-60- Static Grounded Ball & Stem 1/4" to 2"
-63- Threaded x Socket Weld 1/4" to 2"
-PO1- BSPP (Parallel) Thread Connection 1/4" to 2"
-T01- BSPT (Tapered) Thread Connection 1/4" 10 2"
-AR- Less Handle & Stop-Add Belleville Washers1/4" to 2"
-WB- With Lever & Belleville Washers 1/4" to 2"

STAINLESS STEEL 3-PIECE FULL PORT
BALL VALVE WITH ISO MOUNTING PAD

K L M
NUMBER | SIZE | A B C D E F G H I (FLATS) (TIiIJ%]%S.)
86R-101-01 | 1/4" 62 [ 140 | 281 [2.05| 4.18 | .59 1.17 .61 28 | .247/.249 3/8-24 .65 .50
86R-102-01 | 3/8" 62 [ 140 | 281 [2.05 | 4.18 | .59 1.17 .61 28 | .247/.249 3/8-24 .700 .56
86R-103-01 | 1/2" 62 | 140 | 281 [2.05| 4.18 | .59 1.17 .61 28 | .247/.249 3/8-24 .855 .43
86R-104-01 | 3/4" 81 [ 171 | 342 (242|493 | .70 1.39 .84 28 | .247/.249 3/8-24 1.065 .56
86R-105-01 | 1" 1.00 | 1.92 | 385254493 | .70 1.39 .84 28 | .247/.249 3/8-24 1.330 .68
86R-106-01 | 1-1/4" [ 1.25 | 2.35 | 4.70 [3.16 | 8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18 1.675 .81
86R-107-01 | 1-1/2" | 1.50 | 2.59 | 5.18 {3.49 | 8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18 1.915 .87
86R-108-01 | 2" 2.00 [ 301 | 6.03[3.95|8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18 2.405 1.05

B 8 COPYRIGHT ©2000 CONBRACO IND., INC. - PRINTED IN U.S.A.

1/00



Apollo. 86R-200 Series

Stainless Steel 3-Piece Full Port Socket Valve
Ball Valve With Actuator Ready ISO Mounting Pad

Socket Weld, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES

¢ Adjustable packing gland

® Multi-piece packing set

¢ [SO 5211 mounting pad

¢ Blow-out-proof stem design
¢ In-line repairable

1. Stem

2. Jam nut

3. Low profile nut
4. Gland

5. Stem bearing
6. End cap (2)

7. Hex nut (4)

A276-316

S5

316 55

A276-316

RPTTE

ASTM A351-CF8M
18-8 55

¢ [nvestment cast components
¢ RPTFE seats and seals
e Full port configuration
® Meets NACE MRO01-75

STANDARD MATERIAL LIST

8. Seat (2)

9. Ball
10. Body bolt (4)
11. Stem packing
12. Body
13. Lock tab washer
14. Lever and grip

RPTFE

316 SS

18-8 5SS

MPTFE

ASTM A351-CF8M
304 SS

304 SS w/vinyl

7
B3
2p 0

OPTIONS AVAILABLE:

(SUFFIX) OPTION SIZES
-02- Static Grounded 1/4"t0 2"
1 F? -083- 1-1/4" Stem Extension 1/4" 0 2"
. _\ i £ | 04- 2-1/4" Stem Extension 1/4" 102"
‘ K ' / _/ -08- 90° Reversed Stem 1/4" to 2"
3 K 14 -14- Vented Ball 1/4" to 2"
H -18- Plain Yellow Grip 1/4" to 2"
4 13 -21- UHMWPE Seats (Non-PTFE) 1/4" to 2"
‘ 12 G I -24- Graphite Stem Packing 1/4" to 2"
D 5 1 - F= 1/ 27- Latch Lock Lever 14" t0 2"
V_E © 1 A | R PTFE Trim 1/4"to 2"
"—‘—_ ’_] f -39- SS Latch Lock Round Handle 1/4"t0 2"
i 4 Fl 4o Assembled Dry 1/4" 16 2"
L A - —ir L 3 — l*ea T G .57- Cleaned For Gaseous Oxygen 1/4" to 2"
| ] S l -60- Static Grounded Ball & Stem 1/4" 102"
0 -63- Threaded x Socket Weld 1/4"t0 2"
6 LE_&@_FQ_OL P01 BSPP (Parallel) Thread Connection 1/4"t0 2"
7— 8 s 10 -T01- BSPT (Tapered) Thread Connection 1/4" to 2"
——t M = -AR- Less Handle & Stop-Add Belleville Washers1/4" to 2"
8 c -WB- With Lever & Belleville Washers 1/4"t0 2"
For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 8
STAINLESS STEEL 3-PIECE FULL PORT SOCKET WELD
BALL VALVE WITH ISO MOUNTING PAD
I K L M
NUMBER | SIZE | A B C D E F G H I (FLATS) (TI]EI]%IID:‘S.)
86R-201-01 [ 1/4" .62 | 1.40 | 2.81 |2.05 | 4.18 .59 1.17 .61 .28 .247/.249 3/8-24 .565 .50
86R-202-01 | 3/8" .62 | 1.40 | 2.8]1 [2.05 | 4.18 .59 1.17 .61 .28 .247/.249 3/8-24 .700 .56
86R-203-01 | 1/2" 62 [ 140 | 2.81 [2.05] 418 | .59 1.17 61 28 | .247/.249 3/8-24 855 43
86R-204-01 | 3/4" 8l [ 1.71 | 342|242 ] 493 .70 1.39 .84 .28 .247/.249 3/8-24 1.065 .56
86R-205-01 1" 1.00 [ 1.92 | 3.85(2.54 | 4.93 .70 1.39 .84 .28 .247/.249 3/8-24 1.330 .68
86R-206-01 | 1-1/4" | 1.25 | 2.35 | 4.70 [3.16 | 8.06 | .98 1.95 1.16 34 | .3700.372 5/8-18 1.675 .81
86R-207-01 | 1-1/2" [ 1.50 | 2.59 | 5.18 |3.49 | 8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18 1.915 .87
86R-208-01 2" 2.00 | 3.01 | 6.03]3.95 | 8.06 .98 1.95 1.16 .34 .370/.372 5/8-18 2.405 1.05
COPYRIGHT ©2000 CONBRACO IND., INC. - PRINTED IN U.S.A.
1/00 B-9

A

%



&5 Awlls. 86R-700 Series

Stainless Steel 3-Piece Full Port Butt-Weld
Ball Valve With Actuator Ready ISO Mounting Pad

Schedule 10 Butt-Weld Ends, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES

® Multi-piece packing set e Adjustable packing gland

¢ [SO 5211 mounting pad ¢ Investment cast components
¢ Blow-out-proof stem design ® RPTFE seats and seals

¢ In-line repairable e Full port configuration

e Meets NACE MRO01-75

STANDARD MATERIAL LIST

1. Stem A276-316 8. Seat (2) RPTFE

2. Jam nut oS 9. Ball 316 5SS

3. Low profile nut 316 SS 10. Body bolt (4) 18-8 5SS

4. Gland A276-316 11. Stem packing MPTFE

5. Stem bearing RPTFE 12. Body ASTM A351-CF8M
6. End cap (2) ASTM A351-CF8M 13. Lock tab washer 304 SS

7. Hex nut (4) 18-8 55 14. Lever and grip 304 SS w/vinyl

1 T OPTIONS AVAILABLE:

2 I ' (SUFFIX) OPTION SIZES
3 . K 14 J -02- Static Grounded 1/2"to 2"
H -03- 1-1/4" Stem Extension 1/2"to 2"
q 13 -04- 2-1/4" Stem Extension 1/2"t0 2"
r— 12 G 08 90° Reversed Stem 1/2"t0 2"
D 5 1 - F - ! -14- Vented Ball 12" to 2"
_G 7 [ (A * -18- Plain Yellow Grip 1/2" to 2"
* [ ® © B 21- UHMWEPE Seats (Non-PTFE) 1/2" to 2"
* H é F t -24- Graphite Stem Packing 1/2"t0 2"
A = - —rJgir— {q‘ea "' G 27 Latch Lock Lever 1/2"t0 2"
* } i @Q O% 1 35- PTFE Trim 12" 102"
- + = 39 SS Latch Lock Round Handle 1/2"to 2"
6 GE — /1] -49- Assembled Dry 1/2"to 2"
1— 8 | 9 10 -57- Cleaned For Gaseous Oxygen 1/2"t0 2"
~—8 -60- Static Grounded Ball & Stem 1/2"to 2"
c -63- Threaded x Socket Weld 1/2"to 2"
-P01- BSPP (Parallel) Thread Connection 1/2"to 2"
-T01- BSPT (Tapered) Thread Connection 1/2"t0 2"
-AR- Less Handle & Stop-Add Belleville Washers1/2" to 2"
-WB- With Lever & Belleville Washers 1/2"to 2"
For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 8
STAINLESS STEEL 3-PIECE FULL PORT SOCKET WELD
BALL VALVE WITH ISO MOUNTING PAD
] K
NUMBER |SIZE | A B C D E F G H I (FLATS) (TI{IJ?I]%S.)
86R-703-01 | 1/2" .62 [1.40 [2.81 [2.05 [4.18 | .59 1.17 61 28 | .247/.249 3/8-24
86R-704-01 | 3/4" 8l | 1.71 |3.42 (242 |493 | .70 1.39 .84 28 | .247/.249 3/8-24
86R-705-01 1" 1.00 |1.92 [3.85 |2.54 [4.93 | .70 1.39 .84 .28 | .247/.249 3/8-24
86R-706-01 |1-1/4" | 1.25 |2.35 [4.70 [3.16 [8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18
86R-707-01 [1-1/2" [1.50 |2.59 |5.18 [3.49 [8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18
86R-708-01 | 2" 2.00 [3.01 [6.03 [3.95 [8.06 | .98 1.95 1.16 .34 | .370/.372 5/8-18

COPYRIGHT ©2000 CONBRACO IND., INC. - PRINTED IN U.S.A.

B-10

1/00



Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 1.

Apollo. 83-100 Series

Carbon Steel 3-Piece Full Port Ball Valve

Threaded, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.

e Full port configuration
¢ RPTFE seats and seals
¢ In-line repairable

¢ Actuator mounting pad (3/4” to 2")

¢ Nitride corrosion protection

STANDARD MATERIAL LIST

7. Gland nut A108-CS

1. Lever and grip

2. Body bolt (4)
3. Hex nut (4)
4. Ball

5. Seat (2)

6. End cap (2)

FEATURES

¢ Blow-out-proof stem design

¢ Adjustable packing gland

¢ Cast components are investment castings
e 1-1/4" to 2" meet NACE with SS trim

Steel, zinc plated w/vinyl

Steel, SAE grade 8 zinc plated
Steel, SAE grade 8 zinc plated

A108-CS chrome plated
RPTFE
A108-CS(1/4"to 17)
A216-WCB (1-1/4" to 2)

e

-

&

f

F

1

T TAU
I
|

G Tapping

H

47

12

CARBON STEEL 3-PIECE FULL PORT BALL VALVE

8. Stem Al108-CS

9. Lever nut

Steel, zinc plated

10. Stem packing RPTFE
11. Stem bearing RPTFE
12. Body A216-WCB

VARIATIONS AVAILABLE:

83-140 Series (316 SS Ball & Stem)

OPTIONS AVAILABLE:

(SUFFIX)  OPTION SIZES
-02- Static Grounded 1/4" t0 2"
-03- 1-1/4" Stem Extension 1/4" t0 2"
-04- 2-1/4" Stem Extension 1/4" t0 2"
-07- Tee Handle 1/4" t0 2"
-08- 90° Reversed Stem 1/4" t0 2"
-10- SS Lever & Nut 1/4" t0 2"
-14- Vented Ball (see page ]-2) 1/4" t0 2"
-15- Round Handle 1/4" t0 2"
-16- Vertical Chain Lever 1/2" t0 2"
-18- Plain Yellow Grip 1/4" t0 2"
-19- Lock Plate 1/4" t0 2"
-21- UHMWPE Seats (Non-PTFE) 1/4" t0 2"
-23- Tank Flange 2" ONLY
-24- Graphite Stem Packing 1/4" t0 2"
-27- Latch Lock Lever 1/2" t0 2"
-32- SS Tee Handle & Nut 1/4" t0 2"
-35- PTFE Trim 1/4" t0 2"
-45- Less Lever & Nut 1/4" t0 2"
-47- SS Latch-Lock Oval Handle 1/2" t0 2"
-48- SS Oval Handle 1/4" t0 2"
-58- Horizontal Chain Lever 1/2" t0 2"
-59- SS Body Trim 1/4" t0 2"
-60- Static Grounded Ball & Stem 1/4" t0 2"
-63- Female Threaded x Socket Weld 1/2" t0 2"
-PO1- BSPP (Parallel) Thread Connection 1/4" t0 2"
-T01- BSPT (Tapered) Thread Connection 1/4" t0 2"

NUMBER | SIZE | A B C D E F G Wit.

83-101-01 | 174" |.43 [1.28 |2.56 |1.81 |387 [N/A | N/A | 1.03

83-102-01 | 3/8" |.50 [1.28 |[2.56 |1.81 |3.87 [N/A | N/A .99

83-103-01 | 12" |.62 |[1.40 [2.81 |1.93 |481 [N/A | N/A | 140
83-104-01A| 3/4" |.81 |[1.71 |3.43 |2.18 [4.81 |1.25 | 1/4-20 | 1.91
83-105-01A| 1" 100 [1.93 |3.87 [2.62 [5.50 |1.62 |5/16-18 | 2.98
83-106-01A|1-1/4" |1.25 [2.37 |4.75 |2.87 |[5.50 |1.62 |5/16-18 | 5.04
83-107-01A|1-1/2" |1.50 [2.62 |525 |3.37 |[8.00 |1.62 |5/16-18 | 7.46
83-108-01A| 2" |2.00 |30l |6.03 |3.68 |8.00 |1.62 |516-18 |12.83
1/00

For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 7

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. B_ 1 1



Apollo. 83-200 Series

Carbon Steel 3-Piece Full Port Socket Weld Ball Valve

Socket Weld, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.

Vacuum Service to 29 inches Hg.

Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 1.

FEATURES

e Full port configuration

¢ RPTFE seats and stuffing box ring
¢ In-line repairable

¢ Actuator mounting pad (3/4" to 2")
e Nitride corrosion protection

¢ Blow-out-proof stem design

¢ Adjustable packing gland

¢ Investment Cast Components

e Meet NACE MR-01-75 with SS trim

STANDARD MATERIAL LIST

1. Lever and grip
2. Body bolt (4)
3. Hex nut (4)

4. Ball A108-CS chrome plated
5. Seat (2) RPTFE
6. End cap (2) A216-WCB
R @,\7— G Tapping
Eyise
& 78 !

CARBON STEEL 3-PIECE FULL PORT

Steel, zinc plated w/vinyl
Steel, SAE grade 8 zinc plated
Steel, SAE grade 8 zinc plated

7. Gland nut A108-CS
8. Stem A108-CS
9. Lever nut Steel, zinc plated
10. Stem packing RPTFE
11. Stem bearing RPTFE
12. Body A216-WCB
83-240 Series (316 SS Ball & Stem)
(SUFFIX) OPTION SIZES
-02- Static Grounded 1/2" to 2"
-03- 1-1/4" Stem Extension 1/2" to 2"
-04- 2-1/4" Stem Extension 1/2" to 2"
-07- Tee Handle 1/2" to 2"
-08- 90° Reversed Stem 1/2" to 2"
-10- SS Lever & Nut 1/2" to 2"
-14- Vented Ball (see page ]-2) 1/2" to 2"
-15- Round Handle 1/2" to 2"
-16- Vertical Chain Lever 1/2" to 2"
-18- Plain Yellow Grip 1/2" to 2"
-19- Lock Plate 1/2" to 2"
-21- UHMWEPE Seats (Non-PTFE) 1/2" to 2"
-23- Tank Flange 2" ONLY
-24- Graphite Stem Packing 1/2" to 2"
-27- Latch Lock Lever 1/2" to 2"
-32- SS Tee Handle & Nut 1/2" to 2"
-35- PTFE Trim 1/2" to 2"
-45- Less Lever & Nut 1/2" to 2"
-47- SS Latch-Lock Oval Handle 1/2" to 2"
-48- SS Oval Handle 1/2" to 2"
-58- Horizontal Chain Lever 1/2" to 2"
-59- SS Body Trim 1/2" to 2"
-60- Static Grounded Ball & Stem 1/2" to 2"

For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 7

SOCKET WELD BALL VALVE

NUMBER | SIZE | A B C D E F G H I | Wt

83-203-01 | 1/2" | 62 |1.40 |281 | 1.93 | 481 | N/A N/A 855 | 43 | 1.36

83-204-01A| 3/4" | 81 | 171 | 343 | 2.18 | 481 | 125 | 1/4-20 | 1.065 | .56 | 1.86

83-205-01A| 1" |1.00 | 1.93 |3.87 | 262 | 550 | 1.62 | 5/16-18 | 1.330 | .68 | 2.83

83-206-01A | 1-1/4" | 125 | 2.37 | 475 | 2.87 | 550 | 162 |5/16-18 | 1.675 | .81 | 4.91

83-207-01A | 1-1/2" | 1.50 | 2.62 | 5.25 | 3.37 | 8.00 | 1.62 |5/16-18 | 1915 | .87 | 7.27

83-208-01A| 2" |200 |30l |[6.03 | 368 | 800 | 1.62 |5/16-18 | 2.405 | 1.05| 12.51
B-12 COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. 1/00



Apollo. 83-300 Series

Carbon Steel 3-Piece High Pressure Ball Valve

Standard Port, Threaded, 1500 psig WOG, Cold Non-Shock.
150 psig Saturated Steam. Vacuum Service to 29 inches Hg.

Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 1.

FEATURES

® Meets NACE MR-01-75 with SS trim

¢ Nitride corrosion protection
¢ Adjustable packing gland
¢ [n-line repairable

¢ Blow-out-proof stem design

e (-29) certified to API 607 4™ ed. Class 600 burn

1. Lever and grip
2. Body bolt (4)

3. Hex nut (4)

4. Ball

5. Seat (2)

6. End cap (2)

7. Seat holder (2)

¢ Investment Cast Components

e Actuator mounting pad (1" to 2)

e RPTFE seats and seals

STANDARD MATERIAL LIST

CS, zinc plated w/vinyl

Steel, SAE grade 8 zinc plated
Steel, SAE grade 8 zinc plated

A108-CS chrome plated
RPTFE

A216-WCB

A108-CS

Y

?

F.'

11

T
o

-

4

KON

14

CARBON STEEL 3-PIECE

HIGH PRESSURE BALL VALVE

ﬁ_‘s Tapping

8. Gland nut
9. Stem
10. Lever nut
11. Stem packing

Al08-CS
Al08-CS

Steel, zinc plated
RPTFE

12. Stem bearing RPTFE
13. Body A216-WCB
14. Body seal (2) RPTFE

NUMBER |SIZE | A B C D E F G Wt.
83-303-01 | 1/2” | .50 |1.50 [3.00 | 1.84 | 3.87 | N/A N/A 1.28
83-304-01 | 3/4" | 62 |187 [3.74 | 200 | 487 | N/A N/A | 2.00
83-305-01A| 1" 81 | 199 |3.99 | 2.18 | 487 | 1.25 | 1/4-20 | 2.69
83-306-01A|1-1/4" | 1.00 | 231 |462 | 2.60 | 5.50 | 1.62 | 5/16-18 | 3.97
83-307-01A|1-1/2" | 125 |2.62 | 525 | 2.82 | 5.50 | 1.62 | 5/16-18 | 5.50
83-308-01A| 2" 1.50 | 2.74 |5.48 | 3.37 | 8.00 | 1.62 | 5/16-18 | 8.05

1/00

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

VARIATIONS AVAILABLE:

83-340 Series (316 SS Ball & Stem)

OPTIONS AVAILABLE:

(SUFFIX) OPTION SIZES
-02- Static Grounded 1/2" to 2"
-03- 1-1/4" Stem Extension 1/2" to 2"
-04- 2-1/4" Stem Extension 1/2" to 2"
-07- Tee Handle 1/2" to 2"
-08- 90° Reversed Stem 1/2" to 2"
-10- SS Lever & Nut 1/2" to 2"
-14- Vented Ball (see page ]-2) 1/2" to 2"
-15- Round Handle 1/2" to 2"
-16- Vertical Chain Lever 3/4" to 2"
-18- Plain Yellow Grip 1/2" to 2"
-27- Latch Lock Lever 1/2" to 2"
-29- Firesafe 1/2" to 2"
-32- SS Tee Handle & Nut 1/2" to 2"
-45- Less Lever & Nut 1/2" to 2"
-48- SS Oval Handle 1/2" to 2"
-56- Multifill Seats 1/2" to 2"
-58- Horizontal Chain Lever 3/4" to 2"
-59- SS Body Trim 1/2" to 2"
-60- Static Grounded Ball & Stem 1/2" to 2"
-63- Threaded x Solder 1/2" to 2"
-64- 250 Lb. Steam Trim 1/2" to 2"
-P01- BSPP (Parallel) Thread Connection 1/2" to 2"
-TO1- BSPT (Tapered) Thread Connection 1/2" to 2"

For Pressure/Temperature Ratings,
Refer to Page N-14, Graph No. 11

B-13



Apollr.83-400 Series

Carbon Steel 3-Piece High Pressure

Standard Port, Socket Weld, 1500 psig WOG, Cold Non-Shock.

150 psig Saturated Steam. Vacuum Service to 29 inches Hg.

Socket Weld Ball Valve

Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 1.

¢ Nitride corrosion protection

¢ Adjustable packing gland

¢ [n-line repairable
¢ Blow-out-proof stem design

FEATURES

e Meets NACE MR-01-75 with SS trim
¢ Investment Cast Components

e Actuator mounting pad (1" to 2)

¢ RPTFE seats and seals

e (-29) certified to API 607 4™ ed. Class 600 burn

STANDARD MATERIAL LIST

1. Lever and grip
2. Body bolt (4)
3. Hex nut (4)

4. Ball A108-CS chrome plated
5. Seat (2) RPTFE

6. End cap (2) A216-WCB

7. Seat holder (2) A108-CS

PR

{

LHgFE

L.

CS, zinc plated w/vinyl
Steel, SAE grade 8 zinc plated
Steel, SAE grade 8 zinc plated

S G Tapping
CH

8. Gland nut A108-CS
9. Stem A108-CS
10. Lever nut Steel, zinc plated
11. Stem packing RPTFE
12. Stem bearing RPTFE
13. Body A216-WCB
14. Body seal (2) RPTFE

VARIATIONS AVAILABLE:

83-440 Series (316 SS Ball & Stem)

I%ﬁ {1 OPTIONS AVAILABLE:

\':[’ f :J ) (SUFFIX) OPTION SIZES

-02- Static Grounded 1/2" 10 2"

F —1_ -03- 1-1/4" Stem Extension 1/2" 10 2"

10 i__ -04- 2-1/4" Stem Extension 1/2" t0 2"

A q -07- Tee Handle 1/2" 10 2"

-08- 90° Reversed Stem 1/2" 10 2"

11 12 -10- SS Lever & Nut 1/2" to 2"

-14- Vented Ball (see page ]-2) 1/2" 10 2"

[m]

@ 9 \ -15- Round Handle 1/2" t0 2"

-16- Vertical Chain Lever 3/4" t0 2"

1 ¥ -18- Plain Yellow Grip 1/2" 10 2"

T < . -27- Latch Lock Lever 3/4" to 2"

‘ i -29- Firesafe 1/2" to 2"

Q -32- SS Tee Handle & Nut 1/2" 10 2"

-45- Less Lever & Nut 1/2" 10 2"

-48- SS Oval Handle 1/2" 10 2"

©f ) @3 -56- Multifill Seats 1/2" t0 2"

- T F— -58- Horizontal Chain Lever 3/4" to 2"

) -59- SS Body Trim 1/2" to 2"

-60- Static Grounded Ball & Stem 1/2" 10 2"

c -64- 250 Lb. Steam Trim 1/2" 10 2"

For Pressure/Temperature Ratings,

Refer to Page N-14, Graph No. 11
CARBON STEEL 3-PIECE HIGH PRESSURE
SOCKET WELD BALL VALVE

NUMBER | SIZE | A B C D E F G H I Wit.
83-403-01 12" | .50 |1.50 |[3.00 |1.84] 3.87 | N/A N/A .825 43 | 1.28
83-404-01 3/4" | 62 |1.87 |3.74 [2.00| 4.87 | N/A N/A 1.065 | .56 | 2.00
83-405-01A 1" 8l [ 199 [399 |2.18 | 487 | 1.25 1/4-20 |1 1.330 | .68 | 2.69
83-406-01A | 1-1/4"|1.00 | 2.31 | 462 [2.60| 5.50 | 1.62 | 5/16-18 | 1.675 | .81 | 3.97
83-407-01A | 1-1/2" | 1.25 | 2.62 | 525 [2.82 | 5.50 | 1.62 | 5/16-18 | 1.915 | .87 | 5.50
83-408-01A | 2" |1.50 |2.74 |548 337|800 | 1.62 | 5/16-18 | 5.406 | 1.06 | 8.05

B-14

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

1/00



Apollo. 83-500 Series

Carbon Steel 3-Piece High Pressure Full Port
Ball Valve

Threaded, 1500 psig WOG. Cold Non-Shock. 150 psig Saturated Steam. Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 1.

FEATURES

e Nitride corrosion protection @ (-29) Certified to API standard 607, e Investment Cast Components

¢ Adjustable packing gland 4th Edition, Class 600 burn ¢ Actuator mounting pad (3/4" to 2)
¢ In-line repairable ® Meets NACE MR-01-75 with SS trim ® RPTFE seats and seals
¢ Blow-out-proof stem design
1. Lever and grip CS, zinc plated w/vinyl 8. Gland nut A108-CS
2. Body bolt (4) Steel, SAE grade 8 zinc plated 9. Stem A108-CS
3. Hex nut (4) Steel, SAE grade 8 zinc plated 10. Lever nut Steel, zinc plated
4. Ball A108-CS chrome plated 11. Stem packing RPTFE
5. Seat (2) RPTFE 12. Stem bearing RPTFE
6. End cap (2) A216-WCB 13. Body A216-WCB
7. Seat holder (2) A108-CS 14. Body seal (2) RPTFE
Ty Tepeine VARIATIONS AVAILABLE:
V N T 83-540 Series (316 SS Ball & Stem)
\ —
== I 7 OPTIONS AVAILABLE:
PPN B I :
:J__l (SUFFIX)  OPTION SIZES
-02- Static Grounded 1/4" to 2"
F -03- 1-1/4" Stem Extension 1/4" to 2"
-04- 2-1/4" Stem Extension 1/4" to 2"
g) & E -07- Tee Handle 1/4" to 2"
e :) -08- 90° Reversed Stem 1/4" t0 2"
ROV -10- SS Lever & Nut 1/4" 102"
5 @ L -14- Vented Ball (see page ]-2) 1/4" to 2"
(=) -16- Vertical Chain Lever 1/2" to 2"
-18- Plain Yellow Grip 1/4" to 2"
-27- Latch Lock Lever 1/4" to 2"
'\&‘ m -29- Firesafe 1/4" to 2"
< — ’ g | | 1B -32- SS Tee Handle & Nut 1/4" 10 2"
i -38- PEEK Seats & Bearing 1/4" to 2"
—\ -45- Less Lever & Nut 1/4" to 2"
-47- SS Latch-Lock Oval Handle 1/4" to 2"
y -48- SS Oval Handle 1/4" to 2
-56- Multifill Seats 1/4" to 2"
@/ o @ 14 \® -58- Horizontal Chain Lever 1/2" t0 2"
5 7 -59- SS Body Trim 1/4" to 2"
e— B ——= -60- Static Grounded Ball & Stem 1/4" to 2"
c -63- Female Threaded x Socket Weld 1/4" to 2"
-64- 250 Lb. Steam Trim 1/4" t0 2"
-P01- BSPP (Parallel) Thread Connection 1/4" to 2"
-T01- BSPT (Tapered) Thread Connection 1/4" to 2"
CARBON STEEL 3-PIECE HIGH PRESSURE
FULL PORT BALL VALVE
NUMBER | SIZE A B C D E F G Wt.

83-501-01 | 1/4" | 43 |1.50 |3.00 [1.93| 3.87 | N/A N/A 1.21
83-502-01 | 3/8" | .50 |1.50 |[3.00 [1.93| 3.87 | N/A N/A 1.22
83-503-01 | 1/2" | 62 |1.69 |3.38 [2.00| 481 | N/A N/A 1.90
83-504-01A | 3/4" | 81 |1.93 |3.87 |2.18 | 481 | 1.25 | 1/4-20 2.56
83-505-01A| 17 1.00 | 2.25 |4.50 [2.62 | 5.50 | 1.62 | 5/16-18 3.78

83-506-01A |1-1/4" | 1.25 | 2.43 | 4.87 |2.87 | 5.50 | 1.62 | 5/16-18 5.24 For Pressure/Temperqture things,
83-507-01A |1-1/2" | 1.50 |2.62 |525 [3.35| 800 | 1.62 | 516-18 | 7.67 Refer to Page N-14 G‘l’dph No. 11
83-508-01A| 2" |2.00 [312 |6.25 |375]800| 162 | 516-18 | 15.60

]_/OO COPYRIGHT ©1997 CONBRACO IND., INC. — PRINTED IN U.S.A. B_ 1 5



Apollo. 83-600 Series

Carbon Steel 3-Piece High Pressure Full Port
Socket Weld Ball Valve

Socket Weld, 1500 psig WOG, Cold Non-Shock. 150 psig Saturated Steam. Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 1.

FEATURES

¢ Nitride corrosion protection  (-29) Certified to API standard 607, e Investment Cast Components

¢ Adjustable packing gland 4th Edition, Class 600 burn e Actuator mounting pad (3/4" to 2")
¢ In-line repairable ® Meets NACE MR-01-75 with SS trim ® RPTFE seats and seals
¢ Blow-out-proof stem design
1. Lever and grip CS, zinc plated w/vinyl 8. Gland nut A108-CS
2. Body bolt (4) Steel, SAE grade 8 zinc plated 9. Stem A108-CS
3. Hex nut (4) Steel, SAE grade 8 zinc plated 10. Lever nut Steel, zinc plated
4. Ball A108-CS chrome plated 11. Stem packing RPTFE
5. Seat (2) RPTFE 12. Stem bearing RPTFE
6. End cap (2) A216-WCB 13. Body A216-WCB
7. Seat holder (2) A108-CS 14. Body seal (2) RPTFE
;q:e Tapping VARIATIONS AVAILABLE:
[-E VJ Tas ’ 83-640 Series (316 SS Ball & Stem)
— A !
N | OPTIONS AVAILABLE:
t@ ] = r (SUFFIX) OPTION SIZES
-02- Static Grounded 1/2" to 2"
F -03- 1-1/4" Stem Extension 1/2" to 2"
-04- 2-1/4" Stem Extension 1/2" to 2"
10 -07- Tee Handle 1/2" to 2"
8 -08- 90° Reversed Stem 1/2" to 2"
-10- SS Lever & Nut 1/2" to 2"
14 -14- Vented Ball (see page ]-2) 1/2" 10 2"
@ -15- Round Handle 1/2" to 2"
-16- Vertical Chain Lever 1/2" to 2"
-18- Plain Yellow Grip 1/2" to 2"
1 i -27- Latch Lock Lever 1/2" to 2"
T <« -29- Firesafe 1/2" t0 2"
l 1 -32- SS Tee Handle & Nut 1/2" to 2"
-38- PEEK Seats & Bearing 1/2" to 2"
-45- Less Lever & Nut 1/2" to 2"
-47- SS Latch-Lock Oval Handle 1/2" to 2"
@/ -48- SS Oval Handle 1/4" t0 2"
- 1 -56- Multifill Seats 1/2" to 2"
-58- Horizontal Chain Lever 1/2" to 2"
B -59- SS Body Trim 1/2" to 2"
C -60- Static Grounded Ball & Stem 1/2" to 2"
-64- 250 Lb. Steam Trim 1/2" to 2"

For Pressure/Temperature Ratings,

Refer to Page N-14, Graph No. 11
CARBON STEEL 3-PIECE HIGH PRESSURE FULL PORT
SOCKET WELD BALL VALVE

NUMBER | SIZE | A B C D E F G H I Wt.

83-603-01 | 1/2” | 62 |1.69 |3.38 [2.00 | 481 | N/A N/A 855 | .43 | 1.90

83-604-01A| 3/4" | 81 |193 |3.87 [218| 481 | 1.25 | 1/420 | 1.065 | .56 | 2.56

83-605-01A| 1" |1.00 |[225 |4.50 [262 | 550 | 1.62 | 5/16-18 | 1.330 | .68 | 3.78

83-606-01A | 1-1/4" | 1.25 | 2.43 |4.87 [2.87 | 5.50 | 1.62 | 5/16-18 | 1.675 | .81 5.24

83-607-01A | 1-1/2" | 1.50 | 2.62 |525 [335| 800 | 1.62 | 516-18 | 1915 | .87 | 7.67

83-608-01A| 2" |200 |3.12 |6.25 375|800 | 1.62 | 516-18 | 2.406 |1.06 | 15.60
B-16 COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. 1/00



Carbon Steel 3-Piece Full Port Butt-Weld Ball Valve

Apollo. 83-700 Series

Schedule 40 Butt-Weld Ends. 1000 psig WOG. Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: CS, Style: 1.

FEATURES

1. Lever and grip
2. Body bolt (4)

3. Hex nut (4)

4. Ball
5. Seat (2)

6. End Cap (2)

e Full port configuration

e Adjustable packing
¢ In-line repairable

e Blow-out-proof stem design
e Nitride corrosion protection

e Meets NACE MR-01-75 with SS trim

¢ Investment Cast Components

e Actuator mounting pad (3/4" to 2")

¢ RPTFE seats and seals

STANDARD MATERIAL LIST

Steel, zinc plated w/vinyl
Steel, SAE grade 8 zinc plated
Steel, SAE grade 8 zinc plated

A108-CS chrome plated

RPTTE
A216-WCB

r’“ie Tapping
el
=/ J |

OPTIONS AVAILABLE:

7. Gland nut A108-CS

8. Stem A108-CS

9. Lever nut Steel, zinc plated
10. Stem packing RPTFE
11. Stem bearing RPTFE
12. Body CS

VARIATIONS AVAILABLE:
83-740 Series (316 SS Ball & Stem)

(SUFFIX) OPTION SIZES
-02- Static Grounded 1/2" to 2"
-03- 1-1/4" Stem Extension 1/2" to 2"
-04- 2-1/4" Stem Extension 1/2" to 2"
-07- Tee Handle 1/2" to 2"
-08- 90° Reversed Stem 1/2" to 2"
-10- SS Lever & Nut 1/2" to 2"
-14- Vented Ball (see page ]-2) 1/2" to 2"
-15- Round Handle 1/2" to 2"
-16- Vertical Chain Lever 1/2" to 2"
-18- Plain Yellow Grip 1/2" to 2"
-19- Lock Plate 1/2" to 2"
-21- UHMWPE Seats (Non-PTFE) 1/2" to 2"
-23- Tank Flange 2" ONLY
-24- Graphite Stem Packing 1/2" to 2"
-27- Latch Lock Lever 1/2" to 2"
-32- SS Tee Handle & Nut 1/2" to 2"
-35- PTFE Trim 1/2" to 2"
-45- Less Lever & Nut 1/2" to 2"
-47- SS Latch-Lock Oval Handle 1/2" to 2"
-48- SS Oval Handle 1/2" to 2"
-58- Horizontal Chain Lever 1/2" to 2"
-59- SS Body Trim 1/2" to 2"
-60- Static Grounded Ball & Stem 1/2" to 2"

For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 7

COPYRIGHT ©1997 CONBRACO IND., INC. — PRINTED IN U.S.A.

i
A -+
!
(=, Q
2 N
4
f—— 3 ———
C
CARBON STEEL 3-PIECE FULL PORT
BUTT-WELD VALVE
NUMBER | SIZE | A B C D E F G Wit.
83-703-01 12" | 62 | 140 | 281 | 1.93 |4.8] | N/A N/A | 1.36
83-704-01A| 3/4" | 81 | 1.71 | 3.43 | 2.18 [4.81 | 1.25 | 1/4-20 | 1.86
83-705-01A 1” [1.00 | 1.93 | 3.87 | 2.62 [5.50 | 1.62 | 5/16-18 | 2.88
83-707-01A| 1-1/2" | 1.50 | 2.62 | 5.25 | 3.37 [8.00 | 1.62 | 5/16-18 | 7.27
83-708-01A 2" 12.00 |30l | 6.03|3.68 [8.00 | 1.62 | 5/16-18 |12.51
1/00



Apollo. 85-100 Series

Stainless Steel 3-Piece Ball Valve

Standard Port Threaded, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

® Meets NACE MR-01-75

¢ Blow-out-proof stem design
¢ In-line repairable

¢ Adjustable packing gland

STANDARD MATERIAL LIST

1. Lever and grip
2. Stem packing
3. Stem bearing

4. Ball
5. Seat (2)

6. End cap (2)

304 SS w/vinyl
RPTFE

RPTFE
A276-316
RPTFE
A351-CF3M

—0G Tapping

i

STAINLESS STEEL 3-PIECE BALL VALVE

FEATURES

¢ [nvestment cast components
¢ Actuator mounting pad (1" to 2")
¢ RPTFE seats and seals

OPTIONS AVAILABLE:

7. Gland nut A276-316
8. Stem A276-316
9. Lever nut 18-8 SS
10. Body bolt (4) 18-8 SS
11. Hex nut (4) 18-8 SS
12. Body A351-CF8M

NUMBER |SIZE | A B C D E F G Wt.
85-101-01 | 1/4" 43 | 128 [256 | 1.81 [ 387 | NJA | N/A 1.02
85-102-01 | 3/8” S0 | 128 [256 | 1.81 [ 387 | NJA | N/A .98
85-103-01 | 1/2" S0 | 128 [256 | 1.81 [ 387 | NJA | N/A .97
85-104-01 | 3/4" 62 | 138 [275 | 1.93 | 487 | NJA | N/A 1.35
85-105-01A | 1" 8l | 170 [ 340 | 2.18 | 487 | 125 | 1/4-20 1.96
85-106-01A |1-1/4" | 1.00 | 1.95 |3.91 | 260 | 550 | 1.62 | 5/16-18 | 2.83
85-107-01A |1-1/2" | 1.25 | 222 |4.45 | 2.82 | 550 | 1.62 | 5/16-18 | 4.63
85-108-01A | 2" 1.50 | 2.51 [502 | 337 | 800 | 1.62 | 516-18 | 7.12

B-18

(SUFFIX)  OPTION SIZES
-02- Static Grounded 1/4" t0 2"
-03- 1-1/4" Stem Extension 1/4" 0 2"
-04- 2-1/4" Stem Extension 1/4" 0 2"
-07- Tee Handle 1/4" 10 2"
-08- 90° Reversed Stem 1/4" 10 2"
-14- Vented Ball (see page ]-2) 1/4" t0 2"
-15- Round Handle 1/4" 10 2"
-16- Vertical Chain Lever 3/4" t0 2"
-18- Plain Yellow Grip 1/4" t0 2"
-24- Graphite Stem Packing 1/4" t0 2"
-27- Latch Lock Lever 1/2" 10 2"
-30- CamLock Handle 1/4" to 3/4"
-32- SS Tee Handle & Nut 1/4" 0 2"
-35- PTFE Trim 1/4" to 2"
-45- Less Lever & Nut 1/4" 10 2"
-47- SS Latch-Lock Oval Handle 1/2" t0 2"
-48- SS Oval Handle 1/4" 10 2"
-49- Assembled Dry 1/4" 10 2"
-50- 2-1/4" Locking Stem Extension 1/4" to 3/4"
-57- Cleaned For Gaseous Oxygen 1/4" t0 2"
-58- Horizontal Chain Lever 3/4" t0 2"
-60- Static Grounded Ball & Stem 1/4" t0 2"
-61- Grounded Ball & Stem and 1/4" t0 2"
Assembled Dry
-63- Threaded x Socket Weld 1/2" 10 2"
-PO1- BSPP (Parallel) Thread Connection 1/4" t0 2"
-T01- BSPT (Tapered) Thread Connection 1/4" t0 2"

For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 8

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

1/00




Apollo. 85-200 Series

Stainless Steel 3-Piece Socket Weld Ball Valve

Standard Port Socket Weld, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: I, Composition: SS, Style: 1.

® Meets NACE MR-01-75
¢ Blow-out-proof stem design
¢ [n-line repairable

¢ Adjustable packing gland

STANDARD MATERIAL LIST

1. Lever and grip
2. Stem packing
3. Stem bearing

4. Ball
5. Seat (2)

6. End cap (2)

304 SS w/vinyl

RPTFE
RPTTE
A276-316
RPTTE
A351-CF3M

FEATURES

G Tapping

¢ [nvestment cast components
¢ Actuator mounting pad (1" to 2")
® RPTFE seats and seals

7. Gland nut A276-316
8. Stem A276-316
9. Lever nut 18-8 SS
10. Body bolt (4) 18-8 SS
11. Hex nut (4) 18-8 SS
12. Body A351-CF8M

OPTIONS AVAILABLE:

o | | (SUFFIX) _ OPTION SIZES
/Fq\\ -02- Static Grounded 1/2" to 2"
\%‘Z’/ F -03- 1-1/4" Stem Extension 1/2" to 2"
N _l l -04- 2-1/4" Stem Extension 1/2" to 2"
_@_ AL -07- Tee Handle 1/2" to 2"
-08- 90° Reversed Stem 1/2" to 2"
— -10- SS Lever & Nut 112" 10 2
-14- Vented Ball (see page ]-2) 1/2" to 2"
-15- Round Handle 1/2" to 2"
-16- Vertical Chain Lever 3/4" to 2"
-18- Plain Yellow Grip 1/2" to 2"
-24- Graphite Stem Packing 1/2" to 2"
-27- Latch Lock Lever 1/2" to 2"
-30- CamLock Handle 1/2" 10 3/4"
0 -32- SS Tee Handle & Nut 1/2" to 2"
-35- PTFE Trim 1/2" to 2"
N -45- Less Lever & Nut 1/2" to 2"
I -47- SS Latch-Lock Oval Handle 1/2" to 2"
-48- SS Oval Handle 1/2" to 2"
H A -49- Assembled Dry 1/2" to 2"
i . -57- Cleaned For Gaseous Oxygen 1/2" to 2"
T -58- Horizontal Chain Lever 3/4" to 2"
-60- Static Grounded Ball & Stem 1/2" to 2"
For Pressure/Temperature Ratings,
C Refer to Page N-12, Graph No. 8
STAINLESS STEEL 3-PIECE SOCKET WELD BALL VALVE
NUMBER | SIZE | A B C D E F G H I Wit.
85-203-01 12" | .50 [1.28 [2.56 |1.81| 3.87 | N/A N/A .855 A3 .97
85-204-01 | 3/4" | 62 |1.38 [2.75 |1.93| 487 | N/A N/A 1.065 | .56 | 1.35
85-205-01A | 1" 81 | 1.70 | 3.40 [2.18 | 4.87 | 1.25 | 1/4-20 1.330 | 68 | 1.96
85-206-01A | 1-1/4"|1.00 [ 195 [391 |260| 550 | 1.62 | 5/16-18 | 1.675 | .81 | 2.83
85-207-01A | 1-1/2" | 1.25 [ 222 |4.45 |2.82| 550 | 1.62 | 5/16-18 | 1.915 | .87 | 4.63
85-208-01A| 2" |1.50 [251 [502 337|800 | 162 | 5/16-18 | 2.406 | 1.06 | 7.12
1/00 COPYRIGHT ©1997 CONBRACO IND.,, INC. - PRINTED IN U.S.A. B-19



Apollo. 86-100 Series

Stainless Steel 3-Piece Full Port Ball Valve

Full Port Threaded, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES

¢ Investment cast components

e AAR Approved

¢ Blow-out-proof stem design

¢ In-line repairable
¢ Adjustable packing gland
® Meets NACE MR-01-75

e Actuator mounting pad (3/4" to 2")

¢ RPTFE seats and seals
e Full port configuration

STANDARD MATERIAL LIST

1. Lever and grip 304 SS w/vinyl
2. Stem packing RPTFE
3. Stem bearing RPTFE
4. Ball A276-316
5. Seat (2) RPTFE
6. End cap (2) A351-CF3M
g—‘ G Tapping
-\ —{ !
N F
S/

S__E

E
9
8 ﬂ
11

2 3 1
O} D
1
A —
]

12
4
B
C

STAINLESS STEEL 3-PIECE FULL PORT BALL VALVE
NUMBER | SIZE | A B C D E F G Wit.
86-101-01 1/4" | 43 | 1.28 | 2.56 [1.81 | 3.87 | N/A N/A 1.02
86-102-01 | 3/8" | .50 | 1.28 | 2.56 |1.81 | 3.87 | N/A N/A .98
86-103-01 12" | 62 | 1.40 | 281 [1.93 | 481 | N/A N/A 1.35
86-104-01A | 3/4" | .81 1.71 | 343 |2.18 | 481 | 1.25 1/4-20 1.89
86-105-01A| 1" |[1.00 | 1.93 |3.87 [2.62 | 5.50 | 1.62 | 5/16-18 2.95
86-106-01A | 1-1/4" | 1.25 | 2.37 | 4.75 |2.87 | 5.50 | 1.62 | 5/16-18 5.00
86-107-01A | 1-1/2" | 1.50 | 2.62 | 5.25 [3.37 | 8.00 | 1.62 | 5/16-18 7.36
86-108-0l1A| 2" |2.00 | 301 [6.03 [3.68 | 8.00 | 1.62 | &16-18 | 12.73
86-100-01A | 3" |3.00 | 400 |8.00 |562 | 9.75 | N/A N/A 41.15

B-20

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

7. Gland nut A276-316
8. Stem A276-316
9. Lever nut 18-8 SS
10. Body bolt (4) 18-8 SS
11. Hex nut (4) 18-8 SS
12. Body A351-CF8M

OPTIONS AVAILABLE:

(SUFFIX) OPTION SIZES
-02- Static Grounded 1/4" t0 3"
-03- 1-1/4" Stem Extension 1/4" 10 3"
-04- 2-1/4" Stem Extension 1/4" t0 3"
-07- Tee Handle 1/4" t0 3"
-08- 90° Reversed Stem 1/4" t0 3"
-14- Vented Ball (see page ]-2) 1/4" t0 3"
-15- Round Handle 1/4" t0 3"
-16- Vertical Chain Lever 1/2" 10 3"
-18- Plain Yellow Grip 1/4" t0 3"
-19- Lock Plate 1/4" 10 3"
-21- UHMWPE Seats (Non-PTFE) 1/4" t0 3"
-23- Tank Flange 2" ONLY
-24- Graphite Stem Packing 1/4" t0 3"
-27- Latch Lock Lever 1/2" 10 3"
-30- CamLock Handle 1/2" ONLY
-32- SS Tee Handle & Nut 1/4" 10 3"
-35- PTFE Trim 1/4" t0 3"
-45- Less Lever & Nut 1/4" t0 3"
-48- SS Oval Handle 1/4" t0 2"
-49- Assembled Dry 1/4" t0 3"
-57- Cleaned For Gaseous Oxygen 1/4" 10 3"
-58- Horizontal Chain Lever 1/2" 10 3"
-60- Static Grounded Ball & Stem 1/4" 10 3"
-63- Threaded x Socket Weld 3/8" t0 3"
-P01- BSPP (Parallel) Thread Connection 1/4" 10 3"
-T01- BSPT (Tapered) Thread Connection 1/4" 10 3"

For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 8

1/00



Apollo. 86-200 Series

Stainless Steel 3-Piece Full Port Socket Weld Ball Valve

Socket Weld, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES

e AAR Approved ¢ [nvestment cast components

¢ Blow-out-proof stem design e Actuator mounting pad (3/4" to 2")
¢ In-line repairable ¢ RPTFE seats and seals

¢ Adjustable packing gland ¢ Full port configuration

e Meets NACE MR-01-75

STANDARD MATERIAL LIST

1. Lever and grip 304 SS w/vinyl 7. Gland nut A276-316

2. Stem packing RPTFE 8. Stem A276-316

3. Stem bearing RPTFE 9. Lever nut 18-8 5S

4. Ball A276-316 10. Body bolt (4) 18-8 SS

S. Seat (2) RPTFE 11. Hex nut (4) 18-8 55

6. End cap (2) A351-CF3M 12. Body A351-CF8M

G Tapping .
OPTIONS AVAILABLE:

= ? (SUFFIX) OPTION SIZES

—\ HFJ -02- Static Grounded 3/8" to 3"

;} F -03- 1-1/4" Stem Extension 3/8" to 2"

// HH { -04- 2-1/4" Stem Extension 3/8" to 2"

= ‘ -07- Tee Handle 3/8" to 2"

b -08- 90° Reversed Stem 3/8" to 3"

-14- Vented Ball (see page ]-2) 3/8" to 3"

-15- Round Handle 3/8" to 2"

E -] -16- Vertical Chain Lever 1/2" to 2"

J -18- Plain Yellow Grip 3/8" to 2"

-19- Lock Plate 3/8"to 2"

7 1 -21- UHMWPE Seats (Non-PTFE) 3/8"t0 3"

3 0 -23- Tank Flange 2" ONLY

-24- Graphite Stem Packing 3/8" to 3"

. -27- Latch Lock Lever 3/8" to 2"

¥ -30- amlock Handle

T 30 CamlLock Handl 1/2" ONLY

H A -32- SS Tee Handle & Nut 3/8" to 2"

-35- PTFE Trim 3/8"t0 3"

| F -45- Less Lever & Nut 3/8" to 3"

-48- SS Oval Handle 3/8"to 2"

-49- Assembled Dry 3/8" to 3"

12 -57- Cleaned For Gaseous Oxygen 3/8" to 3"

4 -58- Horizontal Chain Lever 1/2" t0 3"

-60- Static Grounded Ball & Stem 3/8" to 3"

For Pressure/Temperature Ratings,
Refer to Page N-12, Graph No. 8
STAINLESS STEEL 3-PIECE FULL PORT SOCKET g P
WELD BALL VALVE
NUMBER | SIZE | A B C D E F G H I Wit.
86-202-01 | 3/8" | .50 | 1.28 | 2.56 |[1.81 | 3.37 | N/A N/A .690 .56 .98
86-203-01 | 1/2" | .62 | 1.40 | 2.81 [1.93 | 4.81 | N/A N/A .855 43 1.33
86-204-01A | 3/4" | 81 1.71 | 343 |2.18 | 481 | 1.25 1/4-20 | 1.065 .56 1.86
86-205-01A | 1" 1.00 | 1.93 | 3.87 [2.62 | 5.50 | 1.62 | 5/16-18 | 1.330 68 | 2.76
86-206-01A | 1-1/4” [ 125 | 2.37 | 475 |2.87 | 550 | 162 | 516-18 | 1675 | 81 | 487
86-207-01A | 1-1/2" | 1.50 | 2.62 | 525 |3.37 | 800 | 1.62 | 5/16-18 | 1.915 87 | 7.18
86-208-01A | 2" |2.00 | 3.01 |6.03 [3.68| 800 | 1.62 | 516-18 | 2.406 | 1.06 | 12.42
86-200-01A | 3" |3.00 | 4.00 |8.00 [5.62| 9.75 | N/A N/A 3.540 | 1.37 | 40.36
1/00 COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. B-21



Apollo. 86-500 Series

Stainless Steel 3-Piece High Pressure Full Port Ball Valve

Threaded, 1500 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: I, Composition: SS, Style: 1.

FEATURES

e Adjustable packing gland e (-29) Certified to API standard 607, e Investment Cast Components

¢ In-line repairable 4th Edition, Class 600 burn e Actuator mounting pad (3/4" to 2")

¢ Blow-out-proof stem design ® Meets NACE MR-01-75 e RPTFE seats and seals
STANDARD MATERIAL LIST

1. Lever and grip 304 SS w/vinyl 8. Gland nut A276-316

2. Stem packing RPTFE 9. Stem A276-316

3. Stem bearing RPTFE 10. Lever nut 304 SS

4. Ball A276-316 11. Body bolt (4) 18-8 SS

5. Seat (2) RPTFE 12. Hex nut (4) 18-8 SS

6. End cap (2) A351-CF3M 13. Body A351-CF8M

7. Seat holder (2) A276-316 14. Body seal (2) RPTFE

P G Tapping OPTIONS AVAILABLE:
I
l/ U ’ (SUFFIX) OPTION SIZES
25 — < -02- Static Grounded 1/4" t0 2"
b__\@; L -03- 1-1/4" Stem Extension 1/4" t0 2"
_< + -04- 2-1/4" Stem Extension 1/4" t0 2"
# | 07- Tee Handle 1/4" 0 2"
-08- 90° Reversed Stem 1/4" t0 2"
S e -14- Vented Ball (see page ]-2) 1/4" t0 2"
F -15- Round Handle 1/4" t0 2"
g) (10 |-— E —»=] -16- Vertical Chain Lever 1/2" to 2"
e -18- Plain Yellow Grip 1/4" t0 2"
'\(\ jj -27- Latch Lock Lever 1/4" to 2"
2 3 1 -29- Firesafe 1/4" t0 2"
@ o -32- SS Tee Handle & Nut 1/4" t0 2"
-38- PEEK Seats and Bearing 1/4" t0 2"
* -45- Less Lever & Nut 1/4" 10 2"
k -47- SS Latch-Lock Oval Handle 1/4" t0 2"
< -48- SS Oval Handle 1/4" t0 2"
-49- Assembled Dry 1/4" t0 2"
-56- Multifull Seats 1/4" t0 2"
’ -57- Cleaned for Gaseous Oxygen 1/4" to 2"
-58- Horizontal Chain Lever 1/2" t0 2"
@9/ 2 \@ -60- Static Grounded Ball & Stem 1/4" t0 2"
-63- Threaded x Socket Weld 1/2" t0 2"
s B -64- 250 Lb. Steam Trim 1/4" t0 2"
-66- NPT x Butt Weld 1/2" to 2"
ret——C -P01- BSPP (Parallel) Thread Connection 1/4" t0 2"
-TO1- BSPT (Tapered) Thread Connection 1/4" t0 2"
STAINLESS STEEL 3-PIECE HIGH PRESSURE
FULL PORT BALL VALVE
NUMBER | SIZE | A B C D E F G Wit.
86-501-01 | 1/4” | .43 | 1.50 [3.00| 1.93| 3.87 | N/A N/A 1.23
86-502-01 | 3/8" | .50 | 1.50 |3.00| 1.93| 3.87 | N/A N/A 1.18
86-503-01 | 172" | .62 | 1.69 |3.38| 2.00| 4.81 | N/A N/A 1.62
86-504-01A | 3/4" | .81 1.93 [ 387|218 481 | 1.25 1/4-20 2.27
86-505-01A | 1" 1.00 | 225 | 450|262 | 5.50 | 1.62 | 5/16-18 | 3.54
86-506-01A | 1-1/4" | 1.25 | 243 | 4.87 [ 2.87 | 5.50 | 162 | 5/16-18 | 6.0 For Pressure/Temperature Ratings,
86-507-01A | 1-1/2" | 1.50 | 2.62 |525]|3.35| 8.00 | 1.62 | 5/16-18 | 8.84 Refer to Pag‘e N-14, Grqph No. 12
86-508-01A | 2" 2.00 | 312 |6.25]375|8.00 | 1.62 | 5/16-18 | 15.28
B-22 COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. 1/00



Apollo. 86-600 Series

Stainless Steel 3-Piece High Pressure Full Port Socket

Weld Ball Valve

Socket Weld, 1500 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES
¢ Adjustable packing gland ® Meets NACE MR-01-75
¢ In-line repairable ¢ Investment Cast Components
¢ Blow-out-proof stem design e Actuator mounting pad (3/4" to 2")
¢ (-29) certified to API 607 4™ ed. Class 600 burn @ RPTFE seats and seals

STANDARD MATERIAL LIST

1. Lever and grip 304 SS w/vinyl 8. Gland nut A276-316

2. Stem packing RPTFE 9. Stem A276-316

3. Stem bearing RPTFE 10. Lever nut 18-8 S5

4. Ball A276-316 11. Body bolt (4) 18-8 SS

S. Seat (2) RPTFE 12. Hex nut (4) 18-8 SS

6. End cap (2) A351-CF3M 13. Body A351-CF8M
7. Seat holder (2) A276-316 14. Body seal (2) RPTFE

H

;?G Tapping .
lﬂ;‘@ i OPTIONS AVAILABLE:

f:’%\ w (SUFFIX)  OPTION

i SIZES
—%ﬂ l -02- Static Grounded 1/2" to0 2"
| i , -03- 1-1/4" Stem Extension 1/2" to 2"
Lﬂ :i——l -04- 2-1/4" Stem Extension 1/2" to 2"
L S -07- Tee Handle 1/2" to 2"
F -08- 90° Reversed Stem 1/2" to 2"
g) (Lo E -l -14- Vented Ball (see page ]-2) 1/2" to 2"
8 j -15- Round Handle 1/2" to0 2"
-16- Vertical Chain Lever 1/2" to 2"
2 -18- Plain Yellow Grip 1/2" to 2"
@ =] -27- Latch Lock Lever 1/2" to 2"
@1 -29- Firesafe 1/2" to 2"
\ -32- SS Tee Handle & Nut 1/2" to 2"
1 i X -38- PEEK Seats and Bearing 1/2" to 2"
I < T -45- Less Lever & Nut 1/2" to 2"
l i -48- SS Oval Handle 1/2" 102"
-49- Assembled Dry 1/2" to 2"
A -56- Multifill Seats 1/2" to 2"
d é -57- Cleaned for Gaseous Oxygen 1/2" to0 2"
@/ -58- Horizontal Chain Lever 1/2" to0 2"
- I = -60- Static Grounded Ball & Stem 1/2" to0 2"
B8 -64- 250 Lb. Steam Trim 1/2" to 2"
C

STAINLESS STEEL 3-PIECE HIGH PRESSURE

For Pressure/Temperature Ratings,
Refer to Page N-14, Graph No. 12

FULL PORT SOCKET WELD BALL VALVE

NUMBER | SIZE

A B C D E F G H I Wt.

86-603-01 1/2"

62 | 169 [3.38 |200 | 481 | NA N/A 855 | .43 1.60

86-604-01A | 3/4"

8l | 193 [387 [218 | 481 | 1.25 | 1/4-20 | 1.065| .56 2.24

86-605-01A 1"

100 | 225 [4.50 |2.62 | 550 | 1.62 | 516-18 | 1.330 | .68 3.32

86-606-01A | 1-1/4"

125 | 243 487 | 287 | 550 | 1.62 | 5/16-18 | 1.675 | .81 .85

86-607-01A | 1-1/2"

1.50 |2.62 |525 |3.35]| 800 | 162 | 516-18 | 1.915 | .87 8.62

86-608-01A | 2"

200 [3.12 |625 |3.75| 800 | 1.62 | 516-18 | 2.406 | 1.06 | 15.60

1/00

COPYRIGHT ©1997 CONBRACO IND., INC. — PRINTED IN U.S.A.

B-23



Apollo. 86-700 Series

Stainless Steel 3-Piece Full Port Butt-Weld Ball Valve

Schedule 10 Butt-Weld Ends, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES

e AAR Approved ¢ [nvestment cast components

¢ Adjustable packing gland ¢ Actuator mounting pad (3/4" to 2")
¢ In-line repairable ¢ RPTEFE seats and seals

¢ Blow-out-proof stem design e Full port configuration

® Meets NACE MR-01-75

STANDARD MATERIAL LIST

1. Lever and grip 304 SS w/vinyl 7. Gland nut A276-316
2. Stem packing RPTFE 8. Stem A276-316
3. Stem bearing RPTFE 9. Lever nut 18-8 SS
4. Ball A276-316 10. Body bolt (4) 18-8 SS
5. Seat (2) RPTFE 11. Hex nut (4) 18-8 SS

6. End cap (2)

A351-CF3M 12. Body A351-CF8M

— r—«q- G Tapping
Fr =l ¥ OPTIONS AVAILABLE:
ﬂl—) ‘" (SUFFIX) OPTION SIZES
-02- Static Grounded 1/2" to 2"
“LI -03- 1-1/4" Stem Extension 1/2" to 2"
-04- 2-1/4" Stem Extension 1/2" to 2"
-07- Tee Handle 1/2" to 2"
-08- 90° Reversed Stem 1/2" to 2"
-14- Vented Ball (see page ]-2) 1/2" to 2"
| -15- Round Handle 1/2" to 2"
-16- Vertical Chain Lever 1/2" to 2"
-18- Plain Yellow Grip 1/2" to 2"
-21- UHMWPE Seats (Non-PTFE) 1/2" to 2"
-23- Tank Flange 2" ONLY
-24- Graphite Stem Packing 1/2" to 2"
D -27- Latch Lock Lever 1/2" to 2"
-30- CamLock Handle 1/2"ONLY
-32- SS Tee Handle & Nut 1/2" to 2"
-35- PTFE Trim 1/2" to 2"
-45- Less Lever & Nut 1/2" to 2"
-48- SS Oval Handle 1/2" to 2"
-49- Assembled Dry 1/2" to 2"
-57- Cleaned For Gaseous Oxygen 1/2" to 2"
-58- Horizontal Chain Lever 1/2" to 2"
-60- Static Grounded Ball & Stem 1/2" to 2"
C
STAINLESS STEEL 3-PIECE FULL PORT
BUTT-WELD BALL VALVE
NUMBER | SIZE | A B C D E F G Wt.
86-703-01 12" | 62 | 140 |281 | 1.93| 481 | N/A N/A 1.87
86-704-01A | 3/4" | .81 |1.71 | 343 | 2.18 | 481 | 1.25 | 1/4-20 | 1.98
86-705-01A | 1" |1.00 | 1.93 |3.87 | 2.62| 550 | 1.62 | 5/16-18 | 2.90 .
86-707-01A | 1-1/2" | 1.50 | 262 | 525 | 337 | 8.00 | 1.62 | 5/16-18 | 7.00 For Pressure/Temperature Ratings,
86-708-01A | 2" [200 301 |6.03 | 368] 800 1.62 | 5/16-18 | 13.08 Refer to Page N-12, Graph No. 8
B_24 COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. 1/00



Apollo. 86-900 Series

Stainless Steel 3-Piece High Pressure
Full Port Butt-Weld Ball Valve

Schedule 10 Butt-Weld, 1500 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES

¢ Adjustable packing gland ® Meets NACE MR-01-75-97
e In-line repairable e Investment Cast Components
e Blow-out-proof stem design ¢ Actuator mounting pad (3/4” to 2")

e (-29) Certified to API standard 607, 4th Edition, Class 600 burn ® RPTFE seats and seals

STANDARD MATERIAL LIST

1. Lever and grip 304 SS w/vinyl 8. Gland nut A276-316
2. Stem packing RPTFE 9. Stem A276-316
3. Stem bearing RPTFE 10. Lever nut 304 SS
4. Ball A276-316 11. Body bolt (4) 18-8 SS
5. Seat (2) RPTFE 12. Hex nut (4) 18-8 SS
6. End cap (2) A351-CF3M 13. Body A351-CF8M
7. Seat Holder (2) A276-316 14. Body seal (2) RPTFE
G (Tapping) OPTIONS AVAILABLE:
o K (SUFFIX)  OPTION SIZES
V= hd | f -02- Static Grounded 1/2" to 2"
-\ W -03- 1-1/4" Stem Extension 1/2" to 2"
\& -04- 2-1/4" Stem Extension 1/2" to 2"
kﬁ, l— —< l -07- Tee Handle 1/2" to 2"
e + - y ! -08- 90° Reversed Stem 1/2" to 2"
t :‘}V -14- Vented Ball (see page ]-2) 1/2" to 2"
—J _—l -15- Round Handle 1/2" to 2"
~—F -16- Vertical Chain Lever 1/2" to 2"
3) (1o }— E -18- Plain Yellow Grip 1/2" to 2"
-27- Latch Lock Lever 1/2" to 2"
8 5O -29- Firesafe 12" 10 2"
2 ;| 3 -32- SS Tee Handle & Nut 1/2" to 2"
-35- PTFE Trim 1/2" t0 2"
= -38- PEEK Seats and Bearing 1/2" to 2"
@ \\ -45- Less Lever & Nut 1/2" to 2"
-47- SS Latch-Lock Oval Handle 1/2" to 2"
-48- SS Oval Handle 1/2" to 2"
— -49- Assembled Dry 1/2" to 2"
-57- Cleaned For Gaseous Oxygen 1/2" to 2"
-58- Horizontal Chain Lever 1/2" to 2"
/ V -60- Static Grounded Ball & Stem 1/2" to 2"
V4 -64- 250 Ib. Steam Trim 1/2" to 2"
5
C
STAINLESS STEEL 3-PIECE HIGH PRESSURE FULL PORT
BUTT-WELD BALL VALVE
NUMBER | SIZE | A B C D E F G Wit.
86-903-01 12" | 62 |1.69 |3.38 | 200| 481 | N/A N/A 1.60
86-904-01A| 3/4" | 81 |[1.93 |3.87 | 2.18| 4.81 | 1.25 | 1/4-20 | 2.24
86-905-01A| 1" |[1.00 [2.25 |4.50 | 262 | 550 | 1.62 | 5/16-18 | 3.32 .
86-907-01A [ 1-1/2" | 1.50 | 2.62 | 5.25 | 335 | 800 | 162 | 5/16-18 | 862 For Pressure/Temperature Ratings,
86-908-01A| 2" [200 [311 [622 | 375| 800 | 162 | 516-18 | 1560 Refer to Page N-14, Graph No. 12
1/00 COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A. B-25




Apollo. 401-100 Series

Alloy-20 3-Piece Full Port Ball Valve

Threaded, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES

¢ Blow-out-proof stem design ¢ Investment cast components

¢ In-line repairable ¢ Actuator mounting pad (3/4” to 2")
¢ Adjustable packing gland ¢ RPTFE seats and seals
® Meets NACE MR-01-75 ¢ Full port configuration
1. Lever and grip 304 SS w/vinyl 7. Gland nut A276-316
2. Stem packing RPTFE 8. Stem B473-N08020
3. Stem bearing RPTFE 9. Lever nut 18-8 SS
4. Ball B473-N08020 10. Body bolt (4) 18-8 SS
5. Seat (2) RPTFE 11. Hex nut (4) 18-8 SS
6. End cap (2) A351-CN7M 12. Body A351-CN7M
G Tapping
e pe—terasl
—
[ P W_| f OPTIONS AVAILABLE:
/’%é-r\ F (SUFFIX) OPTION SIZES
\S_/ -02- Static Grounded 1/2" to 2"
L ¢ -03- 1-1/4" Stem Extension 1/2" to 2"
‘—'E _@ —@ -04- 2-1/4" Stem Extension 1/2" t0 2"
-07- Tee Handle 1/2" to 2"
-08- 90° Reversed Stem 1/2" to 2"
| -14- Vented Ball (see page ]-2) 1/2" to 2"
-15- Round Handle 1/2" to 2"
1 -16- Vertical Chain Lever 1/2" to 2"
-18- Plain Yellow Grip 1/2" t0 2"
-19- Lock Plate 1/2" to0 2"
-21- UHMWPE Seats (Non-PTFE) 1/2"t0 2"
-24- Graphite Stem Packing 1/2" t0 2"
-27- Latch Lock Lever 1/2" to 2"
-30- CamLock Handle 1/2"ONLY
-32- SS Tee Handle & Nut 1/2" to 2"
-35- PTFE Trim 1/2" to 2"
-45- Less Lever & Nut 1/2" to 2"
-48- SS Oval Handle 1/2" to 2"
-49- Assembled Dry 1/2" t0 2"
-57- Cleaned For Gaseous Oxygen 1/2" to 2"
-58- Horizontal Chain Lever 1/2" to0 2"
-60- Static Grounded Ball & Stem 1/2" to 2"
-63- Female Threaded x Socket Weld 1/2" t0 2"
-P0O1- BSPP (Parallel) Thread Connection 1/2" t0 2"
-TO1- BSPT (Tapered) Thread Connection 1/2" to 2"

ALLOY-20 3-PIECE FULL PORT BALL VALVE

B-26

NUMBER | SIZE | A B C D E F G Wit.

401-103-01 | 172" 62 | 140 | 281 | 1.93 | 481 | N/A N/A 1.40

401-104-01 | 3/4" 81 | 1.71 | 343 | 2.18 | 481 | 1.25 | 1/4-20 1.94

401-105-01 1" 1.00 | 1.93 |3.87 | 262 | 5.50 | 1.62 | 5/16-18 | 3.00

401-107-01 | 1-1/2" | 1.50 | 2.62 | 525 | 3.37 | 8.00 | 1.62 | 5/16-18 | 7.4l For Pressure/Temperature Ratings,
401-108-01 2" 2.00 | 3.01 [6.03 | 368|800 | 1.62 | 516-18 | 12.78 Refer to Page N-12, G'I'(Iph No. 8

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

1/00



Apollo. 401-200 Series

Alloy-20 3-Piece Full Port Socket Weld Ball Valve

Socket Weld, 1000 psig WOG, Cold Non-Shock. 150 psig Saturated Steam.
Vacuum Service to 29 inches Hg.
Federal Specification: WW-V-35C, Type: II, Composition: SS, Style: 1.

FEATURES

¢ Blow-out-proof stem design
¢ In-line repairable

¢ Adjustable packing gland
® Meets NACE MR-01-75

1. Lever and grip
2. Stem packing
3. Stem bearing
4. Ball

5. Seat (2)

6. End cap (2)

304 SS w/vinyl
RPTFE

RPTFE
B473-N08020
RPTFE
A351-CN7M

e

g—e Tapping

¢ [nvestment cast components

e Actuator mounting pad (3/4” to 2")
® RPTFE seats and seals

e Full port configuration

STANDARD MATERIAL LIST

7. Gland nut A276-316
8. Stem B473-N08020
9. Lever nut 18-8 SS

10. Body bolt (4) 18-8 SS

11. Hex nut (4) 18-8 SS

12. Body A351-CN7M

OPTIONS AVAILABLE:

| J ) r (SUFFIX)  OPTION SIZES

1 -02- Static Grounded 1/2" to 2"

-03- 1-1/4" Stem Extension 1/2" to 2"

-04- 2-1/4" Stem Extension 1/2" to 2"

-07- Tee Handle 1/2" to 2"

-08- 90° Reversed Stem 1/2" to 2"

-14- Vented Ball (see page J-2) 1/2" to 2"

-15- Round Handle 1/2" to 2"

] -16- Vertical Chain Lever 1/2" 10 2"

-18- Plain Yellow Grip 1/2" 10 2"

-19- Lock Plate 1/2" to 2"

-21- UHMWPE Seats (Non-PTFE) 1/2" t0 2"

-24- Graphite Stem Packing 1/2" 10 2"

-27- Latch Lock Lever 1/2" to 2"

D -30- CamlLock Handle 1/2" ONLY

-32- SS Tee Handle & Nut 1/2" to 2"

-35- PTFE Trim 1/2" 10 2"

-45- Less Lever & Nut 1/2" to 2"

-48- SS Oval Handle 1/2" to 2"

-49- Assembled Dry 1/2" 10 2"

-57- Cleaned For Gaseous Oxygen 1/2" to 2"

-58- Horizontal Chain Lever 1/2" to 2"

-60- Static Grounded Ball & Stem 1/2" to 2"

For Pressure/Temperature Ratings,

Refer to Page N-12, Graph No. 8
ALLOY-20 3-PIECE FULL PORT SOCKET
WELD BALL VALVE

NUMBER | SIZE | A B C D E F G H I Wt.
401-203-01 | 172" | 62 |1.40 |2.81 {193 [4.8]1 | N/A N/A 855 | .43 | 1.38
401-204-01 | 3/4" 81 1.71 |[3.43 [2.18 |4.81 | 1.25 1/4-20 1.065 | .56 | 1.92
401-205-01 1" 1.00 | 1.93 |3.87 [2.62 |550 | 1.62 | 5/16-18 1.330 | .68 | 2.98
401-207-01 | 1-1/2" | 1.50 | 2.62 | 5.25 [3.37 [8.00 | 1.62 | 5/16-18 1.915 | .87 |7.39
401-208-01 2" 1200 [301 [6.03 |3.68 |8.00 |1.62 |5/16-18 | 2.406 | 1.06 [12.76

1/00

COPYRIGHT ©1997 CONBRACO IND., INC. - PRINTED IN U.S.A.

B-27




